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Physics : Section-A (Q. No. 001 to 035)

1 A bullet is fired from a gun at the speed of
280 ms~! in the direction 30° above the
horizontal. The maximum height attained by the

bullet is (g =9.8ms 2, sin30°= 0.5) :
(1) 2800 m (2) 2000 m
(3) 1000 m (4) 3000 m
2 A metal wire has mass (0.4£0.002) g, radius
(0.3£0.001) mm and length (5+0.02) cm. The

maximum possible percentage error in the
measurement of density will nearly be:

(1) 1.2% 2) 1.3%
3) 1.6% @) 1.4%
3 Given below are two statements:

Statement I : Photovoltaic devices can convert

optical radiation into electricity.

Statement II : Zener diode is designed to operate

under reverse bias in breakdown region.

In the light of the above statements, choose the

most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are
correct.

(2) Both Statement I and Statement II are
incorrect.

(3) Statement I is correct but Statement II is
incorrect.

(4) Statement I is incorrect but Statement 11
is correct.

4 The magnetic energy stored in an inductor of
inductance 4 pH carrying a current of 2 A is :

(1) 4ul (2) 4ml
(3) 8ml 4) 8ul

-> >
5 If cJSE -dS =0 over a surface, then :
N
(1) the number of flux lines entering the surface
must be equal to the number of flux lines
leaving it.
(2) the magnitude of electric field on the
surface is constant.
(3) all the charges must necessarily be inside
the surface.
(4) the electric field inside the surface is
necessarily uniform.
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(g=9.8ms_2, sin 30°=o.5) :
(1) 2800 m (2) 2000 m
(3) 1000 m (4) 3000 m

% difed aX & g (0.4+0.002) g, B

(0.3+0.001) mm T w=Tg (5+0.02) cm ¥
T &b T H SAfhan dHa JfE @ B

(1 12% @) 1.3%
(3) 1.6% 4) 1.4%
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The net magnetic flux through any closed surface
is :

(1) Zero
(3) Infinity

(2) Positive
(4) Negative

If the galvanometer G does not show any
deflection in the circuit shown, the value of R is
given by :

400 Q)

+ +
10V—/— R —_— 2V
(1) 200Q (2) 50Q
(3) 100Q (4) 400Q

In a series LCR circuit, the inductance L is
10 mH, capacitance C is 1 pF and resistance R

is 100Q. The frequency at which resonance

occurs is :
(1) 15.9 rad/s (2) 159 kHz
(3) 1.59 rad/s (4) 1.59 kHz

The temperature of a gas is —50° C. To what
temperature the gas should be heated so that the
rms speed is increased by 3 times?

(1) 669° C (2) 3295°C

(3) 3097 K (4) 223K

Let a wire be suspended from the ceiling (rigid
support) and stretched by a weight ¥ attached
at its free end. The longitudinal stress at any
point of cross-sectional area 4 of the wire is :

(1) 2w/4 Q) W4
3) w/24 (4) Zero

A Carnot engine has an efficiency of 50% when
its source is at a temperature 327° C. The
temperature of the sink is :

(1) 27°C 2) 15°C

(3) 100° C (4) 200°C

Resistance of a carbon resistor determined from

colour codes is (22000 +5%) Q. The colour of

third band must be :
(1) Red
(3) Orange

(2) Green
(4) Yellow
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(1) o=
(3) ea

Iy gy & g G &g fagy wE gt ¥, a9
R &1 A9 &1 :

Q) &Tw
(4) e

400 QQ

AAA @,

+ +
10V—/— R —_— 2V
(1) 200Q 2) 50Q
(3) 100Q (4) 400Q

% Juiieg LCR 9w % 9 (L) 10 mH, enfear
(C) 1uF qur gfadg (R) 100Q ¥ AR S
TN A Rafa & smgfa ¥ -
(1) 15.9 rad/s 2
(3) 1.59 rad/s )

freY T &1 qEE —50° C 1 9 &l fee qoEe
T T fopar S 6 sEa! o A @ 9@ H 9N

15.9 kHz
1.59 kHz

T ghg & W ?
(1) 669° C (2) 3295° C
(3) 3097 K (4) 223 K

AT TH a1 B {68 B (38 SMUR) | qebrEm T
T q1 9% Yo R A W AR STgeL @in S § )
A ST HIE FTEA & A & [hal fag X orfaed
giqaa & —
(1) 2w/4
(3) w/24

2) w/4

@) =

BT SO @l gerar 50% & 9 36 |id Bl dIH
327° C %\ e &1 9o ® -

(1) 27°C (2) 15°C

(3) 100° C (4) 200° C

Ul i F TG BT AT Teh HIET WAL BT A
(22000 +5%) Q ¥1 Ty ¥ & vl BT ARy

(1) @ (2) =x
(3) =wam (4) dre
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The minimum wavelength of X-rays produced
by an electron accelerated through a potential
difference of V volts is proportional to:

) 7 @ 7
1
Ol @ 7

For Young’s double slit experiment, two

statements are given below:

Statement I : If screen is moved away from the

plane of slits, angular separation of the fringes

remains constant.

Statement II : If the monochromatic source is

replaced by another monochromatic source of

larger wavelength, the angular separation of

fringes decreases.

In the light of the above statements, choose the

correct answer from the options given below:

(1) Both Statement I and Statement II are
true.

(2) Both Statement I and Statement II are
false.

(3) Statement I is true but Statement II is
false.

(4) Statement I is false but Statement II is
true.

The work functions of Caesium (Cs), Potassium
(K) and Sodium (Na) are 2.14eV, 2.30eV and

2.75 eV respectively. If incident electromagnetic

radiation has an incident energy of 2.20eV,
which of these photosensitive surfaces may emit
photoelectrons?
(1) Cs only
(3) K only

(2) Both Na and K
(4) Na only

The magnitude and direction of the current in
the following circuit is

A —www— b —ww— B
E

D AN C
70

(1) 0.2 A from B to A through £
(2) 0.5 A from 4 to B through £

3) g A from A to B through E
(4) 1.5 A from B to A through E
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(1) 3= %= 19 %29 11 9 ¥

(2) I FA 1T F= 1 o E)

() =M 19 ¥ utg * I 3@ 31

4) =1 o9 ¢ Uty #1979 )

qimq (Cs), drefimm (K) dur d@ifsaq (Na) @r
HRAGAT HA: 2.14eV, 2.30eVaur 2.75eV B

e Mafqd SgagaE [afeTer & St 2.20eV ¥,
T B G IHIIGITE TAE, Wb19T G Iearoict
HT THAT ¢

(1) w%aw Cs
(3) ®aw K

(2) T=i Nag K
(4) %ad Na

Fr=fafaa aftaa & e & afmmr oo feon ®

D VWY C

(1) 02A, EQ & & BE A &l 3T
(2) 05A, EQ BHT A ¥ B &l 31X

3) %A,E@réemA%Ba?faﬁT
4) 1.5A EG T BE A H 3
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In hydrogen spectrum, the shortest wavelength
in the Balmer series is ) . The shortest
wavelength in the Bracket series is :

(1) 2x (2) 4%

(3) 9 4) 162

An electric dipole is placed at an angle of 30°

with an electric field of intensity 2x10°N .
It experiences a torque equal to 4 N m. Calculate
the magnitude of charge on the dipole, if the
dipole length is 2 cm.

(1) 8 mC (2) 6 mC

3) 4mC 4) 2mC

The half life of a radioactive substance is
20 minutes. In how much time, the activity of

1N .
substance drops to (EJ of its initial value?

(1) 20 minutes (2) 40 minutes
(3) 60 minutes (4) 80 minutes

The venturi-meter works on :

(1) Huygen’s principle

(2) Bernoulli’s principle

(3) The principle of parallel axes

(4) The principle of perpendicular axes

An ac source is connected to a capacitor C. Due
to decrease in its operating frequency :

(1) capacitive reactance decreases.

(2) displacement current increases.

(3) displacement current decreases.

(4) capacitive reactance remains constant

A football player is moving southward and
suddenly turns eastward with the same speed to
avoid an opponent. The force that acts on the
player while turning is :

(1) along eastward

(2) along northward

(3) along north-east

(4) along south-west

A full wave rectifier circuit consists of two p-n
junction diodes, a centre-tapped transformer,
capacitor and a load resistance. Which of these
components remove the ac ripple from the
rectified output?

(1) A centre-tapped transformer

(2) p-n junction diodes

(3) Capacitor

(4) Load resistance
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% Agd faga @ 2x100N C”! et & s dga
&3 &% |1 30° & HIOT G W T F | 3H I @
aren 99 oMl 4 Nm 31 afs faga & @1 2 cm
& @ fgga X smaw 7

(1) 8 mC (2) 6 mC

(3) 4mC (4) 2mC

% (faraferea uard @ o amg 20 firee 31 fopaw
o ¥ ugrd o1l URRWe HEN % %&"ﬂmw

feafea & smar & 2
(1) 20 e
(3) 60 fime

(2) 40 fiFe
4) 80 firme

Fmdl FE B ©

(1) =ire s

(2) e fagia o

(3) TEFR e & o W
(4) w=aq ol & fagid W

T JTEdl i &l T geniet (C) § ST T 81
FHG! "l g g2 H

(1) e wlqema sear 21

(2) foram gra et ?

(3) foramus g = ¥

(4) afci wlaaa o & §

e Beard Bl el i fEem &1 ik 45 @1
3R foid & 9 &% foq s/ame a9 9« & |
%! X gt & | Raars! WX ST 9@ 519 a8 gear
%, =

(1) 9 @l &

(2) T @ &R

(3) ST[E @l R

(4) cfur—afyaw & oix

ue Qofad fesesrdt uftqy & &) p-n ©@f swrs,
ey eprl ZE®HT, TSl qo7 T @S iaae
¥ 139 T B A1 ges fSsemiid M o gredt
sigen (o) faqga e @ ¢

(1) us Aeg Freprl et

(2) p-n @y s

(3) dufe

(4) s wlaa
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The potential energy of a long spring when
stretched by 2 cm is U. If the spring is stretched
by 8 cm, potential energy stored in it will be :
(1) 2U (2) 4U

(3) 8U (4) 16U

In a plane electromagnetic wave travelling in
free space, the electric field component oscillates
sinusoidally at a frequency of 2.0x10'°Hz and

amplitude 48Vm'. Then the amplitude of

oscillating magnetic field is : (Speed of light in
free space = 3 x 108 m s71)

(1) 1.6x107°T 2)
(3) 1.6x107'T 4)

1.6x1078T
1.6x10°°T

Light travels a distance x in time /] in air and

10x in time t2 in another denser medium. What

is the critical angle for this medium?

(1) sin”! [2] 2) sin”! []Oij
h i

3) sin_l(lt—lj 4) sin_l[lo—t]j
01, )

The amount of energy required to form a soap bubble
of radius 2 cm from a soap solution is nearly :
(surface tension of soap solution = 0.03 N m™!)
(1) 30.16x1074)  (2) 5.06x1074)

(3) 3.01x1074J (4) 50.1x107%J

A 12V, 60 W lamp is connected to the secondary
of a step down transformer, whose primary is
connected to ac mains of 220 V. Assuming the
transformer to be ideal, what is the current in
the primary winding?
(1) 027 A

3) 37A

2) 27A
(4) 037 A

The angular acceleration of a body, moving along
the circumference of a circle, is :

(1) along the radius, away from centre

(2) along the radius towards the centre

(3) along the tangent to its position

(4) along the axis of rotation
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frel @ T @ Rufast &9t U 3 &9 38 2 cm
Wi wrar &1 afg {5 @ 8 cm @it W, o 3a9
gfaa fafasr e gr

(1) 2U (2) 4U

(3) 8U (4) 16U

e g9 Sgagahid T Jad STebIst | T &Y @l

1 afs forega & 48 vm ! s qEm 2.0x10'Hz

MR I STEeh & STIEH AT &Il & | a9 GIbd
A & S &l omaE § : (Frafd & webter & A
=3x108 ms)

(1) 1.6x107°T (2) 1.6x1078T

(3) 1.6x107'T 4 1.6x107°T

g H UHI 1] gEg A x QU q°1 I guA Hem

" 1) §ug ¥ 10x g T BT &1 39 qeGw & g
Shfcich bioT el @ 7

(1) sin”! {ZJ (2) sin”! [IOJ]
i i

3) sin”! [1(;_1’2J 4) sin”! [%}

T & "I § 2 cm 5591 &1 QgA B Ager S
% T Smasa® Sl Bl A AOHT ¢ (AEA &6 "
1 g8 @ = 0.03 Nm™) :

(1) 30.16x1074J  (2) 5.06x1074]

(3) 3.01x104J (4) 50.1x1074J

Th 12V, 60 W o oy ZE®EL & (5dds 9
o1 2, S wafe 220 V & yeredt did ¥ 937 31
ZIAWIHT BT ST AHHT, WAt arefeT & any 3
(1) 027A 2) 27A
(3) 37A 4) 037A

el g9 @1 9ty X e U% Uvs @ s
@ B

(1) B & sfes, &% 9§ 9T & 3

(2) B & srgfest, &% @ e

(3) zuwm Rufaq @ wefsn & efen

(4) ToF a1 & erfaar
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A vehicle travels half the distance with speed
© and the remaining distance with speed 29 .
Its average speed is:

1 29
M 3 @ =
49 30
® 5 O

The errors in the measurement which arise due
to unpredictable fluctuations in temperature and
voltage supply are :

(1) Instrumental errors

(2) Personal errors

(3) Least count errors

(4) Random errors

The ratio of radius of gyration of a solid sphere
of mass M and radius R about its own axis to
the radius of gyration of the thin hollow sphere
of same mass and radius about its axis is :
(1) 3:5 2) 5:3

3) 2:5 4) 5:2

Two bodies of mass m and 9m are placed at a
distance R. The gravitational potential on the
line joining the bodies where the gravitational
field equals zero, will be (G = gravitational
constant) :

1 2 B
o Lo w 20

The equivalent capacitance of the system shown
in the following circuit is :

3uF
3uF
T R
3uF
(1) 2uF (2) 3 uF
(3) 6uF (4) 9 uF

The ratio of frequencies of fundamental
harmonic produced by an open pipe to that of
closed pipe having the same length is :

(M 1:2 2) 2:1

3) 1:3 4) 3:1
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Teh Ared oMl gl A O ¥ q°1 99 g A 20
T T BT 2| 3D HEd A §

M 3 @ =
y B L
@ = @ 5

AT U7 dees did § STnsll SAX TS & HILe
o F Ffear ¥ ¢

(1) @=ma Freat

(2) =fra Ffeat

(3) oA Jfear

(4) =i Ffear

M 5= QT R Bro9n & Uk S Tl @l 3ah! a1el
% ika: guie frean aa @ W geEEe 9 B %
e @rEd T Bl 3He & b aid: goie e &

U ¥
(1) 3:5 (2) 5:3
(3) 2:5 4) 5:2

I m T 9m % & Y8 U gE ¥ R W
fera 21 Ravst &t e el @ W, TRl Tea s
A B, Toad fava B8R (G = e Reis) ¢

W _8§m @ _12}c€;m
16 G 20G
3) - @ -===

frrfafaa ol & weffa e & gwa et &

3uF
3uF
I —
3uF
(1) 2uF (2) 3 uF
(3) 6uF (4) 9 pF

T AT3 6 U Gl I139 a7 95 U159 &R S

@ Ugra B egfaal &1 oTud ©
(1) 1:2 Q) 2:1
3) 1:3 4 3:1
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Physics : Section-B (Q. No. 036 to 050)
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Calculate the maximum acceleration of a moving
car so that a body lying on the floor of the car
remains stationary. The coefficient of static
friction between the body and the floor is 0.15
(g=10ms2).

(1) 12ms32 (2) 150ms2
3) 1.5ms_2 “ 50ms_2

The x-t graph of a particle performing simple
harmonic motion is shown in the figure. The
acceleration of the particle at =2 s is :

l —_
x (m) 0h4 6

1(s)
2 ' 8
_]L_____w
2 2
] 2 T -2
(D < ms (2) ——gms
2 2
T 2 T -2
3) Tems 4) —Tgms

The net impedance of circuit (as shown in figure)
will be :

50 100
— mH 3

T 10
T hF
S
220V, 50 Hz
() 10420 (2) 15Q
3) 550 (4) 25Q

An electric dipole is placed as shown in the figure.
5cm P

0

. ] ® °
—_ N +

1 3cm 3cm 1
The electric potential (in 102 V) at point P due
to the dipole is (€)= permittivity of free space

1

and Tneg =K):
oo (s
3) @j gK 4) @j qK

A wire carrying a current / along the positive
x-axis has length L. It is kept in a magnetic field

— A A A
B=(2i+3j—-4k) T. The magnitude of the
magnetic force acting on the wire is :

(1) 3IL () J51L
(3) 5IL 4) BIL
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T A B B STTUHad @ $d DI
s B & HY T W TH a5 Rax s+ W)
e A B b S w1 Wi 79T qoric 0.15 7
(g=10m s2)|

(1) 1.2ms_2 () 150ms_2
3) 15ms>2 4) 50ms2

A STEd T B §T Th B BT x-1 6 o &
T AT ¥ £ =2 YhS UX B Bl @ B

1F=
x (m) 0%4 6

1(s)
2 ' 8
_1 L______\__.L/
2 2
T ) T -2
) 5 ms ) ——gms
2 2
T ) L -2
(3) Tems C)) —gms

§H (S e Fast o waldid @) @l afeorsr gheme

50 100
— mH 3 -
T %HF
(~o)
/)
220 V, 50 Hz
(1) 10420 (2) 150
(3) 550 4) 25Q
% I faga fo # wafifa 31 faga & anw fag
P o fermga fawa (102 V #) ¥ (e,=H& Satar &

Aegashiaar qen 1 _x)y:
dn e,

5 cm p
. (') ° .
—4 3cm > 3cm t4q
3 5
o (e o (e
3) @] qK 4) GJ qK

L =TS % T dX § ] 90 X-387 bl GTdHD (&9
% orfey yarsd BNl ¥ 3@ UR gEeE &

B=(27+3)—4k) T ¥ Tar o ¥ | a1 0 HT
TEDHT TA BT AT

(1) 31L 2 51

() S 4 B
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A bullet from a gun is fired on a rectangular
wooden block with velocity u. When bullet
travels 24 cm through the block along its length

horizontally, velocity of bullet becomes % Then

it further penetrates into the block in the same
direction before coming to rest exactly at the
other end of the block. The total length of the
block is :

(I) 27 cm (2) 24 cm

(3) 28 cm (4) 30 cm

Two thin lenses are of same focal lengths (),
but one is convex and the other one is concave.
When they are placed in contact with each other,
the equivalent focal length of the combination
will be :

(1) Zero 2) f/4
3) f/2 (4) Infinite
In the figure shown here, what is the equivalent

focal length of the combination of lenses
(Assume that all layers are thin)?

"1=1'5
Sy A\
] iR =Ry=20em
Ip— Rl ———
S s S
n —1.6—I
(1) 40 cm (2) —40 cm
(3) —100 cm 4) —50cm

A satellite is orbiting just above the surface of
the earth with period 7. If d is the density of the
earth and G is the universal constant of

3n
gravitation, the quantity Gd represents :

() T @) 17

3 7 4) T

For the following logic circuit, the truth table is:

a—o—

D

b e T

(1) 4 B Y 2 4 B Y
0 0 1 0O 0 O
0 1 1 0 1 1
1 0 1 1 0 1
1 1 0 1 1 1

3) 4 B Y 4 A4 B Y
0 0 1 0O 0 O
0O 1 O 0O 1 O
1 0 1 1 0 O
1 1 0 1 1 1
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Igh Dl Th el Ahs| & Th SAADR [ T u
AT H IO A &1 S el [eeb 7 At faen 7 24

om & S ¥, e 1 AT T A A 17 e g

THT W 9 d% odl faem H @ed Bl b qad Tae
Tb NSl 2| [CB B HA @IS § -

(1) 27 cm (2) 24 cm

(3) 28 cm (4) 30 cm

T g9 ®idd gl (f) & & aqa a9 %’,ﬁb—rg;
IAA 9 GO AW ¢ | 9 I U g b Hq‘c%fr
S E, qF S Bl g Wiwd gl B

1) a= 2) f/4

3 f/2 (4) o

e T fa= o, dl & GO B §o Bied gl
1 & (@ dF qad Aeee) 7

222/ V\ZZZZ
] iR =R,=20em
—— Rl Ep—
S N4\ O
ny=1.6—
(1) 40 cm (2) —40 cm
(3) —100 cm 4) —50 cm

T IWIE 1 SEdwd & 91 el ad & b HUT
%! e # wfq fepan sman 81 afs geat @ a9 e d

amewwmﬁ,ﬁﬂﬁT%
wafia & #

I\ T ) 12
3) 13 4) T
o ™ w@iivie g9ftay @ gdar el @ ¢

D

3

—o—Oow —O— O
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A very long conducting wire is bent in a semi-
circular shape from A4 to B as shown in figure.
The magnetic field at point P for steady current
configuration is given by :
-
————— A
R

P

i
————— B

) % pointed into the page

2) % pointed away from the page

Kol 2 .
R l—; pointed away from page

i 2
“_0{1

3)

“)

iR —;} pointed into the page

The resistance of platinum wire at 0°C is 2Q

and 6.8Q at 80°C. The temperature coefficient
of resistance of the wire is :

(1) 3x1074°oC! (2) 3x1073 oC!

(3) 3x10°2°C! (4) 3x1071 oC-!

10 resistors, each of resistance R are connected
in series to a battery of emf E and negligible
internal resistance. Then those are connected in
parallel to the same battery, the current is
increased » times. The value of n is :

(1) 10 (2) 100

3 1 (4) 1000

The radius of inner most orbit of hydrogen atom

is 53x107""'m. What is the radius of third
allowed orbit of hydrogen atom?

(M) o0s53A () 106A

(3) 1594 @ 477A

A horizontal bridge is built across a river. A
student standing on the bridge throws a small

ball vertically upwards with a velocity 4 ms™'.

The ball strikes the water surface after 4s. The
height of bridge above water surface is

(Take g=10ms_2):
(1) 56m (2) 60m
(3) 64m (4) 68m
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yeiia fast % ogER U W 9w aX & 4 ¥ B
TH o8 JABR e § Aisl T 51 Rax g

o % fog fag P X gad & ®
i—
————— A
R
P
i«
————— B
Kol .
(1) ﬁﬁaﬁwaﬁmﬁ
Kol
) ﬁﬁﬁﬁwaﬁaﬂ'(
() %{hﬂwawﬁm

Hol| 2 :
4) ﬁ{l—g} U H ST Bl ST
wieAH & X &1 Ffae 0°C 9T 2Q qar 80°C uX
6.8Q ¥ A @1 wfadre a9 T ¥

(1) 3x104°Ccl  (2) 3x1073 °oC!

(3) 3x102°Cl  (4) 3x1071°C-!

Tk T iae R % 10 wfaret &t £ faega aws
IA qUT TG ATAND FAUY Bl T 921 & ad
U A H SST AT ¥ W9 3% GHM 921 & °iY
FHX %9 # SIS Sl &, a1 91 72 T[T 81 Sl §1
n B AE R

(1) 10 (2) 100

3) 1 (4) 1000

FESISM UXATY] & T SATh Bal Hl e

53x107 ' m ¥ EEger wwary @ ded srEia
Hefl  Brour @ ¥ 7

M 0534 () 1.06A

(3) 1594 @ 477A

e T4 UX U Afdst YA I T 7| g I @I
Th B 4ms_1%aﬂ%@@ﬁﬁi’6@w1

T B ST bl &1 45 91g A I B g &
THAA &1 UM B qAE § HUC G bl HAg §

(gZIOmsf2 Fﬁﬁﬂ"@) :
(1) 56m 2) 60m
(3) 64m (4) 68m
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Section-A (Q. No. 051 to 085)
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55

The relation between n,, (n,, = the number of
permissible values of magnetic quantum number
(m)) for a given value of azimuthal quantum
number (/), is

(1) [=1m

=20% +1

@) I=2n_+1

=/+2

3) ny, 4 ng,

The element expected to form largest ion to
achieve the nearest noble gas configuration is :
(1 O (2) F

(3) N (4) Na

Which amongst the following molecules on
polymerization produces neoprene?

(1) H,C=CH-CH=CH,
Cl
|
(2) H,C=C-CH=CH,
(3) H,C=CH-C=CH

T
(4) H,C=C-CH=CH,

Identify the product in the following reaction :
+
N2 Cl

O
&

> Product
MgBr

.
N

The conductivity of centimolar solution of KCI
at 25°C is 0.0210 ohm™! cm™! and the resistance
of the cell containing the solution at 25°C is
60 ohm. The value of cell constant is -

(1) 1.34 cm™! (2) 3.28 cm™!

(3) 1.26 cm™! (4) 3.34 cm™!

(i) CuyBr, /HBr
(ii) Mg/dry ether

(iii) H,O
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st waien d@an (1) & et feu w0 a & fag
n, = (Yeo w&bieH q&l (m) & FIAT HqH Dbl
&) & 919 99y &

(1) 1="m

@) I=2n_+1

(B) n,=2"+1 (4 n_ =l+2

5 I o STIAFG: heaw I T o=
HE & Y qH Sfus S91 T SO, &

(1 O (2 F

3) N (4) Na

frfafad & ¥ @91 sgaeT ®E T M=
IS HOM?
(1) H,C=CH-CH=CH,

Cl

|
(2) H,C=C-CH=CH,

(3) H,C=CH-C=CH

T
(4) H,C=C-CH=CH,

Fr=fafaa afufrar & S & geatiwu)
N> Cl

(1) CU2BI‘2 /HBr
(ii) Mg/gTagot

(iii) H50 > See
OH
3 -0
MgBr

& .4

25°C q¥ KCl &% ¥R faeas &0 areiedn
0.0210 ohm™! em™! % &fix 25°C X famaw am
o &1 9aUy 60 ohm 3| 4 Reiss &1 99 % ¢
(1) 1.34 cm™! (2) 3.28 cm™!
(3) 126 cm™! (4) 334 cm!
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Match List - I with List- II :

List-1 List - IT

A. Coke I.  Carbon atoms are
sp3 hybridised.

B. Diamond II. Used as a dry
lubricant

C. Fullerene III. Used as a
reducing agent

D. Graphite IV. Cage like
molecules

Choose the correct answer from the options
given below :

(1) A-II, B-1V, C-1, D-III

(2) A-1V, B-1, C-II, D-1II

(3) A-II, B-I, C-1V, D-1I

(4) A-I, B-1V, C-1, D-1I

Given below are two statements : one is labelled
as Assertion A and the other is labelled as
Reason R :

Assertion A : A reaction can have zero activation
energy.

Reasons R : The minimum extra amount of
energy absorbed by reactant molecules so that
their energy becomes equal to threshold value,
is called activation energy.

In the light of the above statements, choose the
correct answer from the options given below :
(1) Both A and R are true and R is the correct
explanation of A.

Both A and R are true and R is NOT the
correct explanation of A.

(3) A is true but R is false.

(4) A is false but R is true.

)

Homoleptic complex from the following
complexes is :

(1) Potassium trioxalatoaluminate (III)

(2) Diamminechloridonitrito - N - platinum (II)
(3) Pentaamminecarbonatocobalt (I11) chloride
(4) Triamminetriaquachromium (III) chloride

A compound is formed by two elements A and
B. The element B forms cubic close packed
structure and atoms of A occupy 1/3 of
tetrahedral voids. If the formula of the compound
is A B, then the value of x +y is in option
(1 5 2) 4

3) 3 4 2
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T -1 % - I & | fHas sl

-1 T - 10

A. ®F [ %ET g
sp> Had B ¥

B. @ . 9% T&h & &9
¥ SyEnT fepa e ®

C. palm 1. Sqam® & Hifd
SUA fopan ST 31

D. ¥®rEe V. fsagar &g

T fou g fomedt 9 ¥ @& SO gy

(1) A-II, B-1V, C-1, D-III

(2) A-1V, B-1, C-II, D-III

(3) AL, B-1, C-1V, D-II

4 A-1I, B-1V, C-I, D-lI

I 31w faw T ¥ | U B st A’ SR gEt

B ‘&re R’ fafea fear man @)

st A : fordt sifufsean & g e =1t &

Tl T

FRO R : afeRe el ERT SEentyd gAad

arfafyerd St sl A= Re™ S9a! Hell &al 7 &

UM B WU, |lhA0 el bedrdl & |

FUX fqU 1T YAl % ER W), A9 f§u T faweat

# ¥ w3 g

(1) A3 RSA 9 & oiX R, A &l 92 =me
&

(2) AR RIA g ¥, uig R, A &I 91 =re
T

(3) Add, wig R 3@ ¥l

(4) A 3Ed %, 9{g R 97 31

Frfafad dgpal & ¥ sHied TP &

(1) urefimm ZReieugre (1)

(2) sEUEHEIEEESR - N - wfemw (11)
(3) TeNHEHFEETewETe (1) FREs
(4) zrEuEZETEEREE (I1) wREe

T AT a1 @l A i B g 99 3o 21 d@ B
g ffas dgiad dxa s9mar 8 8k A & 9T
1/3 agehasE Tl & 93 2 1 afs it & g
AB, ® dl famedl § @ x +y BT A ET:

(1 5 2 4

(3) 3 4 2
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The right option for the mass of CO, produced
by heating 20 g of 20% pure limestone is
(Atomic mass of Ca = 40)

[CaCO _1200K , ca0+CO J

() Li2¢g 2) 1.76¢
(3) 264¢g 4) 132¢

Taking stability as the factor, which one of the
following represents correct relationship?

(1) TICl;>TICI  (2) Inly > Inl

(3) AICI>AICl; (4) TH > Tlly

Identify product (A) in the following reaction :
o)

@)

Zn— Hg
conc. HCl

ﬁj@
FPN
oS-

+ 2H20

Select the correct statements from the following :
Atoms of all elements are composed of two
fundamental particles.

The mass of the electron is

9.10939 x 10731 kg,

All the isotopes of a given element show
same chemical properties.

Protons and electrons are collectively
known as nucleons.

Dalton’s atomic theory, regarded the atom
as an ultimate particle of matter.

Choose the correct answer from the options
given below :

(1) A, Band Conly (2) C, D and E only

(3) A and E only (4) B, C and E only

m o 0 w »2
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20% & AT T &b 20 g B TH & d I
CO, % Fe T % oy 7@ faehed & : (Ca @1 GTHI
TN =40 %))

[Caco _1200K a0+ €O J

(1) 1.12g () 1.76g

(3) 2.64g (4) 132¢

i &t R Wd gu, Frfaiad & 9 sE-—ar @@
GaY o BT T 7

(1) TICl;>TICI  (2) Inl; > Inl

(3) AICI > AICl; (4) TI[ > Tl

et aifHishan @ s (A) &1 qgaTig)
0]

—Znlle, (A)+2H,0
T, HCI

ey

OH

)
OH
OH

CH
G 7
CH,OH

CH,
)
CH,

Frafafaa & @ 98 ®ol &1 g9 BT

A. G @ % TN & qA HON & S B 8

B. ?‘c@'—rwwmwwxlo—” kg B
|

C. frdh aa & ot geente g Tamfe ored
weidfd & ¥

D ﬁ%ﬁ%ﬁsﬁaﬁﬁﬁwwﬁqﬁwm

|

E. sieed & q] faaid ¥ wE] & 5 & qd
HU % T H AF

9 few o famedt ¥ @ w1 wAx gig ¢

(2) %a@ C, D &R E

(1) ®aa A, B3R C
(3) %aw A X E (4) %aw B, C 3 E
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For a certain reaction, the rate = k[A]2 [B], when

the initial concentration of A is tripled keeping
concentration of B constant, the initial rate would
(1) decrease by a factor of nine.

(2) increase by a factor of six.

(3) increase by a factor of nine.

(4) increase by a factor of three.

Given below are two statements :
Statement I : A unit formed by the attachment

of a base to 1" position of sugar is known as

nucleoside
Statement II : When nucleoside is linked to

phosphorous acid at 5"-position of sugar moiety,

we get nucleotide.

In the light of the above statements, choose the
correct answer from the options given below :
(1) Both Statement I and Statement II are true.
(2) Both Statement I and Statement II are false.
(3) Statement I is true but Statement II is false.

(4) Statement I is false but Statement II is true.

Amongst the given options which of the
following molecules / ion acts as a Lewis acid?
(1) NH4 (2) H,O
(3) BFy (4) OH~

Which of the following reactions will NOT give
primary amine as the product?

Br, / KOH

(D) CH; CONH, —*—— Product

(i) LiAIH,
—t

(2) CH{CN —rr s Product

(i) LiAIH,

G) CH@NC (i) H;0 ®

Product

(1) LiA]H4
(4) CH3CONH2 W) Product

Amongst the following, the total number of
species NOT having eight electrons around
central atom in its outer most shell, is

NH,, AICl;, BeCl,, CCl,, PCI; :
(1 3 2) 2
(3) 4 “4) 1
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fope fafrse arfufspan & oo,

am = k[A][B] 1 519 B & @iwan & Rew T
TUA & e |igar O AT & Sl 5, a1 Wi
o

(1) = % U g =9 S|

(2) ® % T U I6 A

(3) T % T T To I

(4) AN & TR T TG S

A & ue fau MU E

FA 1 : fopel e & g a1 1 Rafg ey &
fffa s@rs @ gfreiags wed 2

FA 11 : 99 Jlereianss b srafer a5 ' -Rafa
T BRI 3T ¥ ST & I 7 F[FIsleEs T
BT ¥

FUX U MU HUAl % YR WX A fqu U faweat
H ¥ w8 I gl

() #= 18R w0 1 I 9 T

2) F1 1 R F9 11 I+ e/ )

(3) = 197 T uig F I 38 1
4) w1 o ¥ oig w0 I 8 ¥

faw T faeedl & & BT 3] / AT 3T 3T Bl
T(E HATE BT § 7
(1) NHy
(3) BF;

2) H,0
(4) OH~

frrfafaa aifufparstt & & BF-H SUE & &9
e UHE @ o ?

(1) CH, CONH, —22 XM, e
(2) CH4CN EK)LI;/;)Hé AT
(3) CH,;NC EL))L;;)Hé IR
(4) CH,CONH, Ei]))Lﬁ[Aé)Hé S

Frrefafaad & & 59 wliefi o o den e S
XA % TRIGH HIST H Ak A ST 373 AdA
T, T

NHj;, AICl,, BeCl,, CCl,, PCI;

(1 3 2 2

(3) 4 ) 1
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Which of the following statements are NOT

correct?

A. Hydrogen is used to reduce heavy metal
oxides to metals.

B. Heavy water is used to study reaction
mechanism.

C. Hydrogen is used to make saturated fats
from oils.

D. The H-H bond dissociation enthalpy is
lowest as compared to a single bond
between two atoms of any element.

E. Hydrogen reduces oxides of metals that are
more active than iron.

Choose the most appropriate answer from the

options given below :

(1) B,C,D, E only (2) B, D only

(3) D, E only (4) A, B, C only

Weight (g) of two moles of the organic
compound, which is obtained by heating sodium
ethanoate with sodium hydroxide in presence of
calcium oxide is :

(1) 16 2) 32

3) 30 4) 18

The number of ¢ bonds,  bonds and lone pair
of electrons in pyridine, respectively are :

(1) 11,2,0 2) 12,3,0

3) 11,3,1 4 12,21

Which one of the following statements is

correct?

(1) The daily requirement of Mg and Ca in the
human body is estimated to be 0.2 -0.3 g.

(2) All enzymes that utilise ATP in phosphate
transfer require Ca as the cofactor.

(3) The bone in human body is an inert and

unchanging substance.

(4) Mg plays roles in neuromuscular function

and interneuronal transmission.

Given below are two statements : one is labelled

as Assertion A and the other is labelled as

Reason R :

Assertion A : Metallic sodium dissolves in liquid

ammonia giving a deep blue solution, which is

paramagnetic.

Reasons R : The deep blue solution is due to

the formation of amide.

In the light of the above statements, choose the

correct answer from the options given below :

(1) Both A and R are true and R is the correct
explanation of A.

(2) Both A and R are true but R is NOT the

(3) A is true but R is false.

correct explanation of A.
(4) A is false but R is true.
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fr=fafag & 9 a9-9 ®u9 98 W T 7
A, FTESIEH T STE AT a1 sifeREst A g

B. o @ &1 SuAnT sitaferan fopanfafyr & sreaae
C. TESH &1 SUAN dadl § g« Jarsl b 9

D. T % < ATl & S/ Uohd ey

fordlt 1

% g 9 H-H omey foaem ool =gaaw
E. ®wEgioe o @ afus el aigst &
T fou U femedl ¥ ¥ W@ IugE SO gg

(1) %aw B, C, D, E
(2) %a@ B, D

qfiTes W TaT ¥, SHh & "Wl Bl HIT (g)

(1) 16 2) 32

(3) 30 4) 18

U &, o omEHl, n oEHl X IoEEl b
TSB! Al B HEad HAT:,

(1) 11.2,0 2) 12,3,0

(3) 11,3, 1 4) 12,2, 1

fr=fofag wui & @ - W TP

(1) wa e & Mg X Ca @l &f¥e Smagderdn
0.2-0.3 g argmTtd @ TE 1

e TSEHl S Biehe WA § ATP &
IUGRT B ¥, % [0 T5—a2d & &9 H Ca
METH 2 |

MG SR ¥ &8 U S1feha 3T srufadHstia
e Bl

Mg siaxaifBrara dsfra srEdgomdr oiix
Sfaxqited Yoo § sifirer v 2

e <1 %o fow T ¥ U d et A it gE

® ‘&R R’ fafea fear man &)

AFa A : gifes Qifsad g9 oI § gahl

MY et 1 &1 fqaae Iar &, S ergas e 31
R : &0 i@ fq@@e TaEs & 999 &6 B

BT T

FUX fau T YAl b UR 91, A9 U T faeeat

o H A/ I gAY

(1) %&aﬁTRaﬁfﬂw%aﬁTR,Aaﬁﬂé‘fW
|

(2) AT RIA g ¥, uig R, A &I 91 e
T

(3) A 93 T 9{g R @A 2|

4) A @@ § g R 9 2|

2

3
4
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74  Which amongst the following options is correct
graphical representation of Boyle’s Law?

T T3> T>T,
P

)

- —>

2
() T,>T,>T,

v

3) T,

- —>
<

)
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74 fr=fafed ® 9 oW1 Sad & g & 9@ e
g %7

N
T T,>T,> T,
P
Q)
.
2
T3\
vV—>
T3 T2
1 :
P
2) T,>T,>T,
1 /
K —>
N
T 13> 1> 1,
P
3) T,
T,
T
1 >
\Y%
Vi
v,

o —
o<

“
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The correct order of energies of molecular
orbitals of N, molecule, is :

(1) ols<o Is<o2s<o 25<(n2px=n2py)<

c2p, < (n* 2p, = T 2py> <o 2p,

(2) ols<oc ' ls<o2s<o” 2s<c2p, <

(T:pr =7 2py ) < (TC* 2p, = n*Zpy ) <c" 2p,

(3) ols<o'ls<o2s<o" 2s<o2p, <

c" 2p, < (anX =7 2py) < (n*ZpX =" 2py)

(4) ols<o Is<o2s<o 25<(n2pxz7t2py)<

(7'5*2px = n*2py> <c2p,< o 2p,

Some tranquilizers are listed below. Which one
from the following belongs to barbiturates?
(1) Chlordiazepoxide

(2) Meprobamate

(3) Valium

)

Veronal

The given compound
CH=CH - C|H - CH, CH,

X

is an example of
(1) benzylic halide (2) aryl halide

(3) allylic halide  (4) vinylic halide

Intermolecular forces are forces of attraction and
repulsion between interacting particles that will
include :

A. dipole - dipole forces.

B. dipole - induced dipole forces.

C. hydrogen bonding.

D. covalent bonding.

E. dispersion forces.

Choose the most appropriate answer from the
options given below :

(I) B, C, D, E are correct.

(2) A, B, C, D are correct.

(3) A, B, C, E are correct.

4) A, C, D, E are correct.
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)

3)

4

N, &9 % foTq onfvers Hereh! &l SHoiatl & Tl W
T

(1) ols<o Is<o2s<o 2s<(n2pxzn2py)<

* * %
G2pz<(7l'. 2p, =7 2py)<c 2p,
cls<c'ls<o2s<o" 2s<c2p, <
(7c2pX =7n2p ) (n*sz = n*2py)< c" 2p,
cls<o'ls<c2s<o' 2s<o2p, <
" 2pZ <(712pX = 7r2py)<(‘rc*2pX = Tc*2py)
cls<c Is<c2s<o" 25<(n2pxzn2py)<
(n* 2p, = " 2py)< 62p, < c" 2p,

I HB qH S 6T T T 3T H B
qifeicd 9 dafad g ?

(1) wARSTEIRES

(2) AWEHE

(3) dfeem

(4) IO

fear mar aife

CHzCH—?H—CHZCH3
X

P Th IaTELT 2|
(1) s 2ams  (2) W« Tomss
(3) Ufdfeew tags (4) aEHiae s@Es
FqeTvas 9@ o fhaT & arel & & 9

3pYT SR Gidw & 9 S B & o aftafaa
AT

A Tega-fega a@

B. fa-yga-uia fe-ga =«
C. TESSH A

D. wEEdn sEgd

E. warH Ia@

I e o freedt ¥ ¥ ww@ Suge faeed gho
B, C, D, Eqﬁ%|
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Which one is an example of heterogenous

catalysis?

(1) Oxidation of sulphur dioxide into sulphur
trioxide in the presence of oxides of nitrogen.

(2) Hydrolysis of sugar catalysed by H* ions.

(3) Decomposition of ozone in presence of
nitrogen monoxide.

(4) Combination between dinitrogen and

dihydrogen to form ammonia in the

presence of finely divided iron.

Given below are two statements : one is labelled

as Assertion A and the other is labelled as

Reason R :

Assertion A : Helium is used to dilute oxygen

in diving apparatus.

Reasons R : Helium has high solubility in O,.

In the light of the above statements, choose the

correct answer from the options given below :

(1) Both A and R are true and R is the correct
explanation of A.

(2) Both A and R are true and R is NOT the
correct explanation of A.

3)

4)

A is true but R is false.
A is false but R is true.

The stability of Cu?* is more than Cu™ salts in

aqueous solution due to -

(1) first ionisation enthalpy.

(2) enthalpy of atomization.

(3) hydration energy.

(4) second ionisation enthalpy.

Consider the following reaction and identify the
product (P).

CH, — CH — CH — CH,

| | HBr
CH, OH ——> Product (P)
3 — Methylbutan—2 — ol
Br

|
(1) CH, —(|:—CH2 - CH,
CH,

(2) CH,CH=CH-CH,

3) CH; - |CH — ‘CH —CH,4
CH3 Br

CH
|
(4) CH;~C-CH, Br
|
CH,

3
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fr=fafag & 9 sm-—ar faudil ST &1 Sere

¥?

(1) B & ofiaaEs! @l SuRdAfa ¥ dehl
STZONFATSS BT TTHT ZIZSTFATES § STTFAIB LT

(2) 9T @ HY el a0 Sdfa Samgees

(3) LN HIFIGEES B SRS H S @l

U ZH
(4) wEW gftfa sma @ suftafa & smifwan M
% foT SEIEENT 3R SEEEsN & 9 Tare

I 31w faw T ¥ 1 U B afmem A’ SR gEt

% ‘Fro R’ fafea fear man &)

ARIE A : MA@ & Suseen H AfeaH @l

SRS ®1 T BT & fAQ SURT fopan e 31

F1 R : Afeem & 0, ¥ 3w foaigar adr 31

FUX fau 1T YAl % ER 91, A9 f§u T faeeat

# ¥ w8 s gy

(1) %&aﬁTRaﬁ?ﬁ'W%aﬁTR,Aaﬁﬂé‘fW
|

) Aa?gRaﬂ‘r‘w%,tr{gR,Aa%aé‘rw
T E

3) A ¥d 2 9y R 3@ 3|

(4) A @@ ¥ Uig R 9 2|

Steg faeaet § Cu™ @au &1 wfra Cut @

g offes Frfaiad & &R ean &

(1) wUH STEe Ty

(2) & T

(3) g St

4) Teim smaee o

frefafaa erfufrar w faem #ifvig ik saE (P)
% TR
CH, - CH - CH - CH,

| | HBr I
CH3 OH (P)
3 — UfaeeT— 2 — offd
Br
|
(N CH; -C-CH, —CH,
|
CH,
(2) CH;CH=CH-CH,
3) CH; —CH-CH -CH,
\ |
CH3 Br
CH,4

|
CH, - (|: ~CH, Br
CH

)
3
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Complete the following reaction :

OH
0 __HCN
o Xa
[B]

[A]

conc. HZSO4 . [C]

A 7
[Clis —
2 O
@ QCOOH
o o
(4) @COOH

Given below are two statements : one is labelled
as Assertion A and the other is labelled as
Reason R :

Assertion A : In equation A G =-nFE__, value

cell”
of A G depends on n.

Reasons R : E
A.G is an extensive property.

is an intensive property and

In the light of the above statements, choose the

correct answer from the options given below :

(1) Both A and R are true and R is the correct
explanation of A.

(2) Both A and R are true and R is NOT the
correct explanation of A.

(3) A is true but R is false.

(4) A is false but R is true.

In Lassaigne’s extract of an organic compound,
both nitrogen and sulphur are present, which
gives blood red colour with Fe3™ due to the
formation of -

@) Fe4[Fe(CN)6L-XH20
(2) NaSCN

3) [Fe(CN)5 NOST_

@) [Fe(seN)]**
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frrefefaa sifHishan & QU wifw:

OH
o —HeN
CN

[A] (B]
iz, H,S0, S[C]
A

[C] % —

0 O

) QCOOH

o O

4) Q—COOH

T 1w faw T R 1 U B s A’ S gEl
H ‘@rw R’ fafea fear mar )

st A wli@r A G=-nFE, & A G @
A n 9 49T HXar 2

R R : By WO1-%@cs e & 3T A G T
AT JOTEH B

FUX QU T HUA1 & SER UX, - fqU T ferebeai
# ¥ wé I g

(1) AR RIA 9 ¥ X R, A &l 921 =men
i

A X R3Al @@ ¥, 0ig R, A &I 981 et
& 2

A 99 ¢ 9{g R @@ 2|

A 38@ ¢ g R 9@ 31

)

3
)

fereY Aiftte & @ TRy A TTEZo ok JehT L
Suftera € S Fed™ & gy freifafad & <99 & @rew
I B qifq @ T ST B

(1 Fe4[Fe(CN)6L-XH20
(2) NaSCN

(3) [Fe(CN), NOS]47

@) [Fe(seN)]**
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Section-B (Q. No. 086 to 100)

Chemistry :

86 Identify the major product obtained in the

following reaction :

0
+2 A
H
O

3 ’OH# major product
COO™

Match List - I with List- II :

List - I (Oxoacids List - II (Bonds)

of Sulphur)
Peroxodisul- L.
phuric acid One S-O-S
Sulphuric acid 1. Two S-OH, One S=0
Pyrosulphuric  III. Two S-OH, Four S=0,
acid One S-O-O-S

D. Sulphurous acid IV. Two S-OH, Two S=0

Choose the correct answer from the options

given below :

(1) A-L B-I, C-II, D-IV

(2) A-I, B-1V, C-1, D-1I

(3) A-L B-III, C-IV, D-II

(4) A-III, B-1V, C-II, D-I

NH_%)J+ +

@@

87

A. Two S-OH, Four S=0,

O w

88  On balancing the given redox reaction,

a Crzog_ +b SO%‘ (aq) +cH" (aq) —>
2a Cr** (aq) + bSO~ (aq) + % H,0(¢)

the coefficients a, b and ¢ are found to be,
respectively -
(H 1,3,8
3 1,8,3
Pumice stone is an example of -

(1) sol (2) gel
3) (4) foam

(2) 3,81
4 81,3

89
solid sol
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Frefaiaa sifwferar 9 ua g&g SdT &l Jeaiy ¢

0]

. +2[Ag(NH3)2J+ +

3-oH-A, IE I

QL

COO™ COO~
-1 & g - I & ary fes iy

T -1 T - 10
(AT & (sTrer)
HTFANST)
A. REE- . & S-OH, ’r S=0,
TR 3T % S-O-S
B. svrft® e Il @& S-OH, ©& S=0O
C. wEtEerte Il &1 S-OH, Ir S=0,
| % S-0-0-S
D. ¥@gy@ o IV. &1 S-OH, & S=0
e fau o famedl & 4 w& sAOX ghw:
(1) A-I, B-III, C-II, D-IV
(2) AL, B-1V, C-1, D-1I
(3) A-1, B-II, C-1V, D-II

4) A-II, B-1vV, C-11, D-I

31 TS STUETd SAffhaT Bl Fgfad B X Tk
a, b X ¢ HAM: U< BT F:

a Crzog_ +b SO%‘ (aq) +cH" (aq) —>

2aCr’t (aq) +b SOAZ[ (aq) + % H,0()
() 1,3,8 ) 3,8, 1
3) 1,83 4 8,1,3
JE TR IS §
(1) =iet &1 (2) o @
(3) 3@ dia @& 4) wm &
[ Contd
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Which complex compound is most stable?

) [CO(NH3)4 (Hzo)Br}(No3)2
Q) [CO(NH3)3(NOS)3]
(3) [CoCl,(en), | NO,
(4) [Co(1\1H3)6L(so4)3

Consider the following reaction :

Identify products A and B.

e Oy
Cyomn
3) A@CHZI and B—@

Identify the final product [D] obtained in the
following sequence of reactions.

LiAIH H,SO
DL [A] 204, [p)

CH,CHO

>[D]

Na/dry ether

)

51

() C,Hy

(4) HC=C®Na*
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DT GHA AR TG s Wy § 7
) [CO(NH3)4 (H20)Br](NO3)2

2) [CO(NH3)3(NO3)3J
(3) [Cocl,(en), |NO,
(4 [CO(NH3)J A30,),

frefataa sifufspar o faar @ifsmal

@4}12—0@%,“3

I@El A 3R B @l ggaif|

(1) A=®CH3WB—®OH
() A=QCH20HWB=®I
3) A@—CH;WB=©—OH
) A@—CH3G?\TB—©—1

arfuferaren & Frfafaa w9 § wra sifew S [D]
%I gEdTT |

CH,CHO I;Iﬁ‘:gﬁ >[A] 2% [B]
Br
HBr . O/ .
=[] < gma D]

" @/\
>

() CyHy,

(4) HC=C®Na'
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Given below are two statements :

Statement I : The nutrient deficient water bodies

lead to eutrophication.

Statement I1 : Eutrophication leads to decrease

in the level of oxygen in the water bodies.

In the light of the above statements, choose the

correct answer from the options given below :

(1) Both Statement I and Statement I1 are true.

(2) Both Statement I and Statement II are
false.

(3) Statement I is correct but Statement II is
false.

(4) Statement I is incorrect but Statement 11

is true.

Which amongst the following will be most
readily dehydrated under acidic conditions ?

OH
(1) CH,
H

OH OH

@y, C/i\/k

NO,
H
€) OH
OH
NO,
) )\/\(
OH
What fraction of one edge centred octahedral
void lies in one unit cell of fcc?

1 2 @

2 3
1

® 5 @ =

The reaction that does NOT take place in a
blast furnace between 900 K to 1500 K
temperature range during extraction of iron is :

(1) Fe,04 +CO - 2FeO + CO,
(2) FeO+CO - Fe+CO,

(3) C+CO,—>2CO

(4) CaO +Si0, — CaSiO,
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BIERARC DS R

w1 : Gve e 9@ e @ gare e $
Fo 11 : AW § Al § SHeriis & @Y
e B

FUX U T HUA % oy WX A fiu U faweat
ff@l'ﬂ?lﬁ'(gﬁ"‘{:

() #= I 8 ®A 11 I 9 T

2) F= 1 3R F2= 11 <+ e/ )

(3) =W 19d ¢ aig 4 11 3@ 2|

4) = 1 3Ed § wig Fa 1 9 31

frafafea & & dF-91 oFE IRRatadl ¥ a9y
atfes s & fstfaa g ?
NO, OH

(1 M\CH3

H
OH OH

@ e

H
3) /Kf/\OH

OH
NO,

OH

fce @l Uth Tdheh hiTSSehl H Ueh BIT Dhiad TCHAD
Tifer a1 femaer aigT SuRyd & & 7

1
(D 2 3

3 “)

A= |~
—_
Sl-

A & apuT & SR aren 9 § 900 K &
1500 K 3 & s st atfHishan & &1 W&l e, a8
3

@)
)
3)
Q)

Fe,0, + CO —> 2FeO + CO,
FeO + CO — Fe + CO,
C+CO, —2CO

Ca0 + Si0, — CaSiO,
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Which amongst the following options is the
correct relation between change in enthalpy and
change in internal energy?

(1) AH=AU - An RT
2)
3)
“)

Consider the following compounds/species :

AH =AU + AngRT
AH — AU = - AnRT
AH + AU = AnR

ii. |||

vil.

The number of compounds/species which obey
Huckel’s rule is .

(1) 4 2) 6

3 2 4 5

The equilibrium concentrations of the species
in the reaction A+ B=C+D are 2, 3, 10 and
6 mol L1, respectively at 300 K. AG® for the
reaction is (R =2 cal / mol K)

(1) 1372.60 cal (2) —137.26 cal

(3) —1381.80 cal (4) —13.73 cal

Which of the following statements are
INCORRECT?

A. All the transition metals except scandium
form MO oxides which are ionic.
B. The highest oxidation number

corresponding to the group number in
transition metal oxides is attained in Sc,O4
to Mn,O,.

C. Basic character increases from V,0; to
V,0, to V,0s.

D. V,0,dissolves in acids to give VO3_ salts.

E. CrO is basic but Cr,O5 is amphoteric.
Choose the correct answer from the options
given below :

(1) A and E only
(3) C and D only

(2) B and D only
(4) B and C only
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frefafad faeel & @ S T giads o
A ST greaa & S/ 98 d9y § 7

(1) AH=AU-An,RT
) =AU + An RT
(3) AH - AU = — AnRT
(4) AH+ AU =AnR
Frefafad Qe / @ishs w fmmr St
NG
o)

©
| v, N
@
A vi- ©
Neoe

T Tohol [TOH T 9T i e ATl [ arefie
B T T
(H 4
3 2

300 K 9x sfyfeear A+B=C+D # @isis &\
TR Figdtd %9l 2, 3, 10 3K 6 mol L1 ¥}
arfafopar & fiw AG® %: (R =2 cal / mol K)
(1) 1372.60 cal (2) —137.26 cal

(3) —1381.80 cal (4) —13.73 cal

frafafed & & B9 H97 T TE &7

A. whisgw & sifiiad @it d@hav agd MO
STFAES SN & S Sl B ¢ |

B. e TEA1 % €A STAaH SaIIDh I AT HHHIT
&1 sTreEmEst # Sc,O5 & Mn,O, ® T &t
2

C. V,0;& V,0, 8 V,05 & &K I 9T &t
RELICES IS

D. V,0, st ¥ gt VO, @@ I Fl

E. CrO ami® & siaf% Cr,O5 SWaet ¥l

T fu o fawed ¥ ¥ @ sOX giTg

iii.

(2 6
QO

(1) ®aa@ AR E (2) ®aw@ B &k D
(3) W@ C X D (4) FHaw B 3l C
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Botany : Section-A (Q. No. 101 to 135)

101

102

103

104

105

Movement and accumulation of ions across a
membrane against their concentration gradient
can be explained by

(1) Osmosis

(2) Facilitated Diffusion

(3) Passive Transport

(4) Active Transport

How many ATP and NADPH, are required for
the synthesis of one molecule of Glucose during
Calvin cycle?

(1) 12 ATP and 12 NADPH,

(2) 18 ATP and 12 NADPH,

(3) 12 ATP and 16 NADPH,

(4) 18 ATP and 16 NADPH,

Which micronutrient is required for splitting of
water molecule during photosynthesis?

(1) manganese (2) molybdenum

(3) magnesium (4) copper

Given below are two statements :

Statement I : Endarch and exarch are the terms

often used for describing the position of

secondary xylem in the plant body.

Statement II : Exarch condition is the most

common feature of the root system.

In the light of the above statements, choose the

correct answer from the options given below :

(1) Both Statement I and Statement II are
true.

(2) Both Statement I and Statement II are
false.

(3) Statement I is correct but Statement II is

false.

(4) Statement I is incorrect but Statement 11

is true.

Given below are two statements : One is labelled

as Assertion A and the other is labelled as

Reason R :

Assertion A : Late wood has fewer xylary

elements with narrow vessels.

Reason R : Cambium is less active in winters.

In the light of the above statements, choose the

correct answer from the options given below :

(1) Both A and R are true and R is the correct
explanation of A.

(2) Both A and R are true but R is NOT the

3)

correct explanation of A.
A is true but R is false.
(4) A is false but R is true.
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el % ST-—UIR |isdl Javural & fa6g =l &l
T SfX THS & Bl [ohaT fehEeh &1 ST Wl ST
bl T 7

(1) gug

(2) gare faam

(3) fafkwa uftass

(4) =fea df@e

Hiead Th & A B & Th A & HIAUT %
faq feea ATP it NADPH, &I sfasaddr it
g7
ey
@)
3)
“)

qE DA G&H UTH § SN YHI FIAU B I
WA o] % foaved & ol smaga® ¥ °

12 ATP &R 12 NADPH,
18 ATP &fX 12 NADPH,
12 ATP &R 16 NADPH,
18 ATP &R 16 NADPH,

(1) Hmir (2) wiferssT
(3) Fifyram (4) i
T 3w e R

FoA | : Tefeares ST STer enfeaTsd 9Tes 1 IUAT,
Treul ® fadiiae sgew o Rufd &1 auie & & fog
fopam i 2

w11 : STereTicaTed S QI A 6l T&ul
5l

Suda Hol & fowa &, 99 e fyeedt & 9 W@
ST GT

(1) == I R w11 S+ 9 ¥

(2) [ 1 R w4 11 I 9T |

(3) =W 19 % g A 11 o B

4) w1 7@ ¢ 9y w9 1 9 §)

T 3 U 5T T ¥ - us FeuaerE w9 A T e
U FT R % -

freaaE F A Uy H Gl arfewretl ar
I WEaq dd & & |

For R : qféal § Sfaam & Sranshie g 7
Sugerd Bl & fowg &, 9 o ™ fyeed § 4 98
IR g ¢

(1) AR RIA 9@ ¢ & R, A %1 98! e
E

A X R3Al @@ € 90 R, A @l 921 =
BRI

A 9 & 7] R o@d 3|

A 3T T 9 R 9 31

)

(€))
“
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During the purification process for recombinant
DNA technology, addition of chilled ethanol
precipitates out
(1) RNA

(3) Histones

(2) DNA
(4) Polysaccharides

In gene gun method used to introduce alien DNA
into host cells, microparticles of

metal are used.

(1) Copper

(2) Zinc

(3) Tungsten or gold

(4) Silver

The historic Convention on Biological Diversity,
‘The Earth Summit’ was held in Rio de Janeiro

in the year :
(1) 1985 (2) 1992
(3) 1986 (4) 2002

In angiosperm, the haploid, diploid and triploid
structures of a fertilized embryo sac sequentially
are :

(1) Synergids, Primary endosperm nucleus and
zygote

(2) Antipodals, synergids, and primary
endosperm nucleus

(3) Synergids, Zygote and Primary endosperm
nucleus

(4) Synergids, antipodals and Polar nuclei

Upon exposure to UV radiation, DNA stained
with ethidium bromide will show

(1) Bright red colour

(2) Bright blue colour

(3) Bright yellow colour

(4) Bright orange colour

Family Fabaceae differs from Solanaceae and
Liliaceae. With respect to the stamens, pick out
the characteristics specific to family Fabaceae
but not found in Solanaceae or Liliaceae.

(1) Diadelphous and Dithecous anthers

(2) Polyadelphous and epipetalous stamens
(3) Monoadelphous and Monothecous anthers
(4) Epiphyllous and Dithecous anthers

Which hormone promotes internode/petiole
elongation in deep water rice?

(1) GA4 (2) Kinetin

(3) Ethylene (4) 2,4-D
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UGS SLUA.T. Tobeih | YRG0 UiehdT % SR
shae 39+Ta foper sraafa wear & 7

(1) 8muAT (2) SLTAT.

3) fe=m (4) widdwTEs

ey Hifdter # el SLUAU B AR B
% forg St = fafy & vga geq & e a1g & 5=
B g 7

(1) @i

(2) fo®

(3) FmeE A @

(4) =@

g fafayar o Ufqeias a9 Cord wine” fat
fs Rafar & fra o & gom o ?
(1) 1985 2) 1992
(3) 1986 4) 2002

AgqEsl aedl ¥ % Mufad quieiy % ST,

fegftra ik Bryfma @ e dA-a1 &7

(1) Her B, wrefies Yo dadh i goest

(2) wiqeaTaid HIeR, Ge/ BiiswR i wafis
YU BEh

(3) T BIGE, JHT S Wl Yo Hesch

(4) e HHE, gl Hivmd ok gar
P

ufufsaw sigs & A SLuA.T. & g d fafeco
# G BT UX T w3 Y

(1) THe&Iar a« o

(2) TEHIEr @ T

(3) TweEr g

(4) TEHE ATEH T

HaEr o, T ofi fafaeer § fe 31 gpER %
el # %AW F I @@ B gHTC S diaeEr ar
fafeoedl & & 1@ S

(1) fagdr o Tt aRmmeleT

(2) s gt o qaAd™ ghay

(3) TH Tl X THBSS! GIFTHIT

(4) ufted @9 iR fadisdl qRmmehisT

TEX @ ATl arad H, BT SAM q4/9d & T
& qoral 87
(1) GA;

(3) Ui

(2) At
4) 2,45
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Frequency of recombination between gene pairs
on same chromosome as a measure of the
distance between genes to map their position on
chromosome, was used for the first time by
(1) Thomas Hunt Morgan

(2) Sutton and Boveri

(3) Alfred Sturtevant

(4) Henking

Identify the pair of heterosporous pteridophytes
among the following :

(1) Lycopodium and Selaginella

(2) Selaginella and Salvinia

(3) Psilotum and Salvinia

(4) Equisetum and Salvinia

What is the role of RNA polymerase III in the

process of transcription in Eukaryotes?

(1) Transcription of rRNAs (28S, 18S and
5.8S)

(2) Transcription of tRNA, 5 srRNA and
snRNA

(3) Transcription of precursor of mRNA

(4) Transcription of only snRNAs

Expressed Sequence Tags (ESTs) refers to

All genes that are expressed as RNA.

All genes that are expressed as proteins.

All genes whether expressed or

unexpressed.

(4) Certain important expressed genes.

Cellulose does not form blue colour with lodine

because

(1) It is a disaccharide.

(2) It is a helical molecule.

(3) It does not contain complex helices and
hence cannot hold iodine molecules.

(4) It breakes down when iodine reacts with it.

Given below are two statements : One is labelled

as Assertion A and the other is labelled as

Reason R :

Assertion A : ATP is used at two steps in

glycolysis.

Reason R : First ATP is used in converting

glucose into glucose-6-phosphate and second

ATP is used in conversion of fructose-6-

phosphate into fructose-1-6-diphosphate.

In the light of the above statements, choose the

correct answer from the options given below :

(1) Both A and R are true and R is the correct

explanation of A.
(2) Both A and R are true but R is NOT the
(3) A is true but R is false.

correct explanation of A.
(4) A is false but R is true.
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Teh & OIS WX S g o did GAARTeM @l agha
& Sl % S bl g & ®F H A BT, TOHH W
bl Rafa &1 7199 &1 ST 999 Usd fha A
o7 ?

(1) o9mF & AeH

(2) T SR dEd

(3) @k Tare

(4) Eow

Frefatad & 9 faweemes SREwEe & g™ &
() rewhifeTs o Arsi

(2) Ryasti=ar & arehfrar

(3) aE@eT AR Gt

(4) zFAeT 3R areEfrar
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The phenomenon of pleiotropism refers to

(1) presence of several alleles of a single gene
controlling a single crossover.

(2) presence of two alleles, each of the two
genes controlling a single trait.

(3) asingle gene affecting multiple phenotypic
expression.

(4) morethantwogenesaffectingasinglecharacter.

Identify the correct statements :

A. Detrivores perform fragmentation.

B. The humus is further degraded by some
microbes during mineralization.

C. Water soluble inorganic nutrients go down
into the soil and get precipitated by a
process called leaching.

D. The detritus food chain begins with living
organisms.

E. Earthworms break down detritus into
smaller particles by a process called
catabolism.

Choose the correct answer from the options

given below :

(1) A, B, C only

(3) C, D, E only

(2) B, C, D only
(4) D, E, A only

The thickness of ozone in a column of air in the
atmosphere is measured in terms of :

(1) Dobson units  (2) Decibels

(3) Decameter (4) Kilobase

Given below are two statements :

Statement I : The forces generated by

transpiration can lift a xylem-sized column of

water over 130 meters height.

Statement II : Transpiration cools leaf surfaces

sometimes 10 to 15 degrees, by evaporative

cooling.

In the light of the above statements, choose the

most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are
correct.

(2) Both Statement I and Statement II are
incorrect.

(3) Statement I is correct but Statement II is
incorrect.

(4) Statement I is incorrect but Statement 11
is correct.
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What is the function of tassels in the corn cob?
(1) To attract insects

(2) To trap pollen grains

(3) To disperse pollen grains

(4) To protect seeds

The reaction centre in PS II has an absorption
maxima at

(I) 680 nm
(3) 660 nm

(2) 700 nm
(4) 780 nm

In tissue culture experiments, leaf mesophyll
cells are put in a culture medium to form callus.
This phenomenon may be called as :

(1) Differentiation

(2) Dedifferentiation

(3) Development

(4) Senescence

Given below are two statements : One is labelled
as Assertion A and the other is labelled as
Reason R :

Assertion A : The first stage of gametophyte in
the life cycle of moss is protonema stage.
Reason R : Protonema develops directly from
spores produced in capsule.

In the light of the above statements, choose the
most appropriate answer from the options given
below :

(1) Both A and R are correct and R is the
correct explanation of A.

Both A and R are correct but R is NOT the
correct explanation of A.

A is correct but R is not correct.

)

3)
(4) A is not correct but R is correct.

Among eukaryotes, replication of DNA takes
place in -

(1) M phase
(3) G phase

(2) S phase
(4) G, phase

Axile placentation is observed in

(1) Mustard, Cucumber and Primrose
(2) China rose, Beans and Lupin

(3) Tomato, Dianthus and Pea

(4) China rose, Petunia and Lemon
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In the equation

|GPP — R =NPP|
GPP is Gross Primary Productivity
NPP is Net Primary Productivity
R here is .
(1) Photosynthetically active radiation
(2) Respiratory quotient
(3) Respiratory loss
(4) Reproductive allocation

Which of the following stages of meiosis
involves division of centromere?

(1) Metaphase 1 (2) Metaphase I1

(3) Anaphase Il (4) Telophase

Spraying of which of the following
phytohormone on juvenile conifers helps in
hastening the maturity period, that leads to early
seed production?

(1) Indole-3-butyric Acid

(2) Gibberellic Acid

(3) Zeatin

(4) Abscisic Acid

Unequivocal proof that DNA is the genetic
material was first proposed by

(1) Frederick Griffith

(2) Alfred Hershey and Martha Chase

(3) Avery, Macleoid and McCarthy

(4) Wilkins and Franklin

Large, colourful, fragrant flowers with nectar
are seen in :

(1) insect pollinated plants

(2) bird pollinated plants

(3) bat pollinated plants

(4) wind pollinated plants

The process of appearance of recombination
nodules occurs at which sub stage of prophase
I in meiosis?

(1) Zygotene
(3) Diplotene

(2) Pachytene
(4) Diakinesis

Among ‘The Evil Quartet’, which one is
considered the most important cause driving
extinction of species?

(1) Habitat loss and fragmentation

(2) Over exploitation for economic gain

(3) Alien species invasions

(4) Co-extinctions
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Botany : Section-B (Q. No. 136 to 150)
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138

139

Identify the correct statements :
A. Lenticels are the lens-shaped openings
permitting the exchange of gases.

B. Bark formed early in the season is called
hard bark.

C. Bark is a technical term that refers to all
tissues exterior to vascular cambium.

D. Bark refers to periderm and secondary
phloem.

E. Phellogen is single-layered in thickness.

Choose the correct answer from the options given
below :

(1) B,Cand Eonly (2) A and D only
(3) A,Band D only (4) B and C only

Melonate inhibits the growth of pathogenic
bacteria by inhibiting the activity of

(1) Succinic dehydrogenase

(2) Amylase

(3) Lipase

(4) Dinitrogenase

Match List I with List II :

List I List II
A. Cohesion I.  More attraction in
liquid phase
B. Adhesion II. Mutual attraction
among water
molecules
C. Surface III. Water loss in
tension liquid phase
D. Guttation IV. Attraction towards

polar surfaces
Choose the correct answer from the options
given below :
(1) A-IL B-1V, C-I, D-III
(2) A-1V, B-II, C-II, D-I
(3) A, B-I, C-1V, D-II
(4) A-IL, B-1, C-1V, D-III

Match List I with List II :

List I List 1T
A. Iron I.  Synthesis of auxin
B. Zinc II.  Component of
nitrate reductase
C. Boron II. Activator of catalase
D. Molybdenum IV. Cell elongation

and differentiation
Choose the correct answer from the options given
below :
() A-II, B-II, C-I, D-IV
(2) A-IL, B-III, C-1V, D-I
3) A-I, B-1, C-1V, D-lI
4) A-IL, B-1V, C-I, D-1II
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A. wE I iR &1 dyau
B. & . "Eee fRewa & 9@
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140 Which of the following statements are correct
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about Klinefelter’s Syndrome?

A. This disorder was first described by
Langdon Down (1866).

B. Such an individual has overall masculine
development. However, the feminine
development is also expressed.

C. The affected individual is short statured.

D. Physical, psychomotor and mental
development is retarded.

E. Such individuals are sterile.

Choose the correct answer from the options

given below :

(1) A and B only

(3) B and E only

(2) C and D only
(4) A and E only

Which of the following combinations is required
for chemiosmosis?

(1) membrane, proton pump, proton gradient,
ATP synthase

(2) membrane, proton pump, proton gradient,
NADP synthase

(3) proton pump, electron gradient, ATP
synthase

(4) proton pump, electron gradient, NADP
synthase

How many different proteins does the ribosome
consist of?
(1) 80
(3) 40

2) 60
4) 20

Given below are two statements : One is labelled
as Assertion A and the other is labelled as
Reason R :

Assertion A : A flower is defined as modified
shoot wherein the shoot apical meristem changes
to floral meristem.

Reason R : Internode of the shoot gets
condensed to produce different floral appendages
laterally at successive nodes instead of leaves.
In the light of the above statements, choose the
correct answer from the options given below :
(1) Both A and R are true and R is the correct
explanation of A.

Both A and R are true but R is NOT the
correct explanation of A.

A is true but R is false.

A is false but R is true.

)

3)
“)
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Given below are two statements : One is labelled

as Assertion A and the other is labelled as

Reason R :

Assertion A : In gymnosperms the pollen grains

are released from the microsporangium and

carried by air currents.

Reason R : Air currents carry the pollen grains

to the mouth of the archegonia where the male

gametes are discharged and pollen tube is not

formed.

In the light of the above statements, choose the

correct answer from the options given below :

(1) Both A and R are true and R is the correct
explanation of A.

(2) Both A and R are true but R is NOT the

(3) A is true but R is false.

correct explanation of A.
(4) A is false but R is true.

Match List I with List II :

List I List 11
(Interaction) (Species A and B)
A. Mutualism . +(A), O(B)
B. Commensalism II. —(A), O(B)
C. Amensalism 1. +(A), —(B)
D. Parasitism IV. +(A), +(B)

Choose the correct answer from the options
given below :

(1) A-1V, B-II, C-1, D-III

(2) A-1V, B-I, C-I1, D-III

(3) A-1V, B-III, C-1, D-1I

(4) A-I, B-I, C-1V, D-1I

Main steps in the formation of Recombinant

DNA are given below. Arrange these steps in a

correct sequence.

A. Insertion of recombinant DNA into the host
cell.

B. Cutting of DNA at specific location by
restriction enzyme.

C. Isolation of desired DNA fragment.

D.  Amplification of gene of interest using PCR.

Choose the correct answer from the options given

below :

() B,C, D, A 2) C,A B, D

3) CB,D,A (4) B,D,A,C

Given below are two statements :
Statement I : Gause’s ‘Competitive Exclusion
Principle’ states that two closely related species
competing for the same resources cannot co-
exist indefinitely and competitively inferior one
will be eliminated eventually.
Statement II : In general, carnivores are more
adversely affected by competition than herbivores.
In the light of the above statements, choose the
correct answer from the options given below :
(1) Both Statement I and Statement I are true.
(2) BothStatementIand Statement Il are false.
(3) Statement I is correct but Statement II is
false.
(4) Statement I is incorrect but Statement 11
is true.
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Match List I with List II :

List I List II

A. Oxidative I.  Citrate
decarboxylation synthase

B. Glycolysis II.  Pyruvate

dehydrogenase

C. Oxidative II. Electron
phosphorylation transport system

D. Tricarboxylic IV. EMP pathway
acid cycle

Choose the correct answer from the options given

below :

(1) A-1I, B-1V, C-1I, D-I

(2) A-Il, B-1V, C-1, D-III

(3) A-lI, B-I, C-lI, D-IV

(4) A-IL, B-1V, C-III, D-I

Which one of the following statements is NOT

correct?

(1) The micro-organisms involved in
biodegradation of organic matter in a
sewage polluted water body consume a lot
of oxygen causing the death of aquatic
organisms.

(2) Algal blooms caused by excess of organic
matter in water improve water quality and
promote fisheries.

(3) Water hyacinth grows abundantly in
eutrophic water bodies and leads to an
imbalance in the ecosystem dynamics of
the water body.

(4) The amount of some toxic substances of
industrial waste water increases in the
organisms at successive trophic levels.

Match List I with List II :

List I List 11
A. M Phase [.  Proteins are
synthesized
B. G, Phase II.  Inactive phase
C. Quiescent II. Interval between
stage mitosis and
initiation of DNA
replication
D. G, Phase IV. Equational
division

Choose the correct answer from the options given
below :

(1) A-1I, B-1I, C-1V, D-I

(2) A-1V, B-II, C-1, D-II

3) A-1V, B-1, C-11, D-11I

(4) A-I, B-1V, C-I, D-II
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(1) A-III, B-1V, C-II, D-I
(2) A, B-1V, C-1, D-III
(3) A-IIL, B-I, C-II, D-IV
(4) A-IL, B-1V, C-III, D-I

frrefafad & @ B9-—a1 wue 98 & 27

(1) afzd 9@ @ ugfa siaeE & Sifas geret &
HATET B A GETSild AT SRSt
d ¥ e e Sl @ gy @ S 2
W H orfdiad Sifde st % Bre Sard
TEHE BT & S 9 b IO Bl S BT &
3R wBeITE B SerEr Idr ¥

Ui Sited o o i @l eifasa e |
ST # wiikas fd § srEge e g 31

)

(€))

(4) oirEnfe sufire 9@ # o fava el & e
Y IAOAT AW W 9T Sl § Ferad el 8
T I & w1 % 9 gAfad i
Tl T 10
A. M yraen I OHT & e
B. G, wreren II.  feha arereen
C. qUid srae L. |9gaT S
IEEISERCIE
S.UA.U. yfagpfaad
% ATCH B &A™
AT
D. G, s@en IV. &% fqameH

A @ W fgedl § ¥ 98 ST gy ¢
(1) A-IIL, B-II, C-1V, D-I
(2) A-lV, B-II, C-1, D-1II
(3) A-IV, B-I, C-II, D-III
(4) A-IL, B-1V, C-1, D-III
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Zoology : Section-A (Q. No. 151 to 185)

151 In which blood corpuscles, the HIV undergoes
replication and produces progeny viruses?

(1) Ty cells (2) B-lymphocytes
(3) Basophils (4) Eosinophils
152  Which of the following is not a cloning vector?
(1) BAC (2) YAC
(3) pBR322 (4) Probe

153 Once the undigested and unabsorbed substances
enter the caecum, their backflow is prevented by-
(1) Sphincter of Oddi
(2) lleo - caecal valve
(3) Gastro - oesophageal sphincter
(4) Pyloric sphincter

154 Match List I with List II.

List I List 1T
A. P - wave I.  Beginning of systole
B. Q - wave II. Repolarisation of
ventricles
C. QRS complex III. Depolarisation of atria
D. T - wave IV. Depolarisation of
ventricles

Choose the correct answer from the options
given below:

(1) A-1I, B-I, C-1V, D-1I

(2) A-1V, B-IIl, C-II, D-I

(3) A-IL B-1V, C-1, D-III

(4) A-L B-I, C-lII, D-IV

155 Given below are two statements: one is labelled
as Assertion A and the other is labelled as
Reason R.

Assertion A: Amniocentesis for sex

determination is one of the strategies of

Reproductive and Child Health Care Programme.

Reason R: Ban on amniocentesis checks

increasing menace of female foeticide.

In the light of the above statements, choose the

correct answer from the options given below:

(1) Both A and R are true and R is the correct
explanation of A.

(2) Both A and R are true and R is NOT the
correct explanation of A.

(3) A is true but R is false.

(4) A is false but R is true.
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152

153

154

155

BT W T BoTEel § TSNSl UiGPia war ©
i wafa fawmyy ¥a1 ar €7

(1) Ty®l@weid  (2) B-ww@mmg o

(3) wHIfparl o (4) zeifatear o

= # @ BN wAT dawd Tl s 7

(1) BAC (2) YAC

(3) pBR322 4) W

T emufad Ud IEEtg gard @ieH § 999 &
¥ a9 S giqaE B UhT o &

(1) ST eraqysy
(2) 3t — dipa ared
(3) T — U TR

(4) uEEie srEeR
T L& T I % ary gafad s

T T 11
A. P-—am [ 9gaT &1 oY
B. Q- @t . Tl & ergao
C. QRS dftag 1. erfeial @t fagau
D. T-am Iv. fret @ fagao

1 fiu U faeeal ¥ @ @ SO B g9 HAU
(1) A-II, B-I, C-1V, D-II
(2) A-1V, B-III, C-II, D-1
(3) A-I, B-1V, C-1, D-IIT
4) A-lL, B-II, C-III, D-1V

a2 Hu I ™ ¥ e v A AU @R

R %I

AR A fer frafor & e Seedem 9 ud o

WA SEATA BIEHH B Th iR S

FRO R: I@AYE WX ey 96d §T A& U1 &

% A B AhdT T

SugET BUl & YISl H, T fiu T fawed ¥ @

If| I BT TUT BA

(1) Atwd R a0 € Td R, A &I T2 = 2|

(2) ATd RIE g T Td R, A %1 T2 Jrea &)
.

(3) A ¥ & @feT R 3/ 2|

4) A I9d & @fed R 99 2|
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Match List I with List II.

List I List II
A. Gene ‘a’ I.  B-galactosidase
B. Gene ‘y’ II.  Transacetylase
C. Gene ‘i II. Permease
D. Gene ‘7’ IV. Repressor protein

Choose the correct answer from the options
given below:

(1) A-I, B-I, C-1V, D-II

(2) A-I, B-1II, C-1V, D-I

3) A-II, B-1V, C-1, D-II

(4) A-I, B-I, C-1V, D-1I

Which one of the following techniques does not

serve the purpose of early diagnosis of a disease

for its early treatment?

(1) Recombinant DNA Technology

(2) Serum and Urine analysis

(3) Polymerase Chain Reaction (PCR)
technique

(4) Enzyme Linked Immuno-Sorbent Assay

(ELISA) technique

Given below are two statements:

Statement I: Electrostatic precipitator is most

widely used in thermal power plant.

Statement II: Electrostatic precipitator in

thermal power plant removes ionising radiations

In the light of the above statements, choose the

most appropriate answer from the options given

below:

(1) Both Statement I and Statement II are
correct.

(2) Both Statement I and Statement II are
incorrect.

(3) Statement I is correct but Statement II is

incorrect.

(4) Statement I incorrect but Statement II is

correct.

Given below are two statements: one is labelled

as Assertion A and the other is labelled as

Reason R.

Assertion A: Endometrium is necessary for

implantation of blastocyst.

Reason R: In the absence of fertilization, the

corpus luteum degenerates that causes

disintegration of endometrium.

In the light of the above statements, choose the

correct answer from the options given below:

(1) Both A and R are true and R is the correct
explanation of A.

(2) Both A and R are true but R is NOT the

3)

correct explanation of A.
A is true but R is false.
(4) A is false but R is true.
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157

158

159

T & g 1 & a1y gafad &
T T 11

A, W T L B-AidwEEsd

B. W ‘@ . gEugeEes

C. o ‘emg’ . geHs

D. WH %€ IV. Tl WM

1 fiu U faeeal ¥ @ W@ SO B T HA
(1) A-II, B-I, C-1V, D-1II
(2) A-II, B-III, C-1V, D-I
(3) A-II, B-1V, C-I, D-lI
(4) A-II, B-I, C-1V, D-II

1 & ¥ BIET dbriee T T % TN IUATR &
fow writhe fem & Sugnt € &7

(1) garm AT dreife

(2) € e g fagawo

(3) UM 99 RudeE (FEem) dedis

(4) USTEA Tea™™ Yiaean 9y S (Targs)

I &1 %o fow g ¥

F I: dgq sraafys am farga €69 e €9 9
ST § AT S §

o 11: A foga S # Ieq aaits sTemieRe
faferter &t serar 81

I HUAl & TBIe A fau T fawmedt § 9w
IO B TIT B

(1) 3= = 1 wd I 99 )

(2) < w1 ud I e 21

3) FF 19 ¥ wfeT A 11 39 ¥

4) F1 1 @d t afed w9 11 99 31

A a1 o o T ¥ uh AR A ® gEU R
R 21

HUFEA A2 HIRBYE! % SFAAT b T THIR Sid-&X
AT |

w9 R: foa &1 sruitafa & dias fis &1 s@
grar & frad & sfaw &1 fads @ oar 3
SUgE BUA & YeId H, A9 foy MU fawedt F &
Sf S & T HU

(1) Atd RT3 € Td R, A % 92 =TT 7
(2) AUud RIEI g7 & wd R, A &I 921 Jre &
£

A 9 ¥ Wb R @A |

A 3T § dfhT R 9 2|

3)
Q)
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160 Match List I with List II.

161

162

D. A cattle egret and

List I List II
(Interacting species) (Name of Interaction)
A. A Leopard and a [. Competition
Lion in a forest/grassland
B. A Cuckoo laying II. Brood
egg in a Crow’s nest parasitism

C. Fungi and root of a higher IIl. Mutualism
plant in Mycorrtizae

IV. Commensalism
a Cattle in a field

Choose the correct answer from the options

given below:

(1) A-L B-II, C-III, D-IV

(2) A-L B-II, C-1V, D-III

(3) A-I, B-1V, C-1, D-1I

(4) A-II, B-III, C-I, D-IV

Given below are two statements:

Statement I: Ligaments are dense irregular
tissue.

Statement II: Cartilage is dense regular tissue.
In the light of the above statements, choose the
correct answer from the options given below:
(1) Both Statement I and Statement II are
true.

Both Statement I and Statement II are
false.

Statement I is true but Statement II is
false.

Statement I is false but Statement II is
true.

2
3)
“

Match List I with List II.

List I List II
A. Ringworm 1. Haemophilus influenzae
B. Filariasis II.  Trichophyton
C. Malaria HI.  Wuchereria bancrofti
D. Pneumonia IV. Plasmodium vivax

Choose the correct answer from the options
given below:

(1) A-IL, B-III, C-IV, D-I

(2) A-I, B-1II, C-1I, D-IV

(3) A-IIL B-II, C-I, D-IV

(4) A-I, B-1I, C-1V, D-I
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160 T I % & 11 & |re gafad &)

D.

T 1
(enfer sivatsran)

% /99 & He H
oY 9%

Th FIF Th I %
dfget ¥ i qar ¥
AEHISS | Ak T4
ST ued % g

T AT 9l T
W § AR 9g)

T 10

(saafsRan &1 M)
I. @y

I 3 uXSiar
1. GEgeIar

IV. Teqifan

a feu U faeedl ¥ 9 W SO @ 99T AU

(1

)
3
)

161

) A-IL, B-II, C-1II, D-IV
A-I, B-II, C-1V, D-III
A-III, B-IV, C-1, D-II

A-1I, B-III, C-1, D-IV

T 3w e TR

F 1: Wy @9 stfafa A 5|
F 11: Iy qeq Frafa Sas 31

STdH HUFl b Yelel § A fou U faedt @ w@
IO BN TIT B

(1) = w1 wd I 97 2
(2) I F= 1 wd 11 | E)
(3) = I 9 ¥ dfepd w11 38 2|
4) FF 1 @d § afed w9 11 99 31

162

o 0w

T 1
Fiarast
EIESIRUEE
AT

. Tt

L.
II.
II.
IV.

T 1 & T I & | gafad &

= 11

e St
2EBIBTET
gARar dwiwers
WA qIEdFT

I R T et ¥ ¥ w9 IO F GIT B

(1

2

3

)

) A-ll, B-II, C-1V, D-1
A-II, B-III, C-I, D-IV
A-III, B-1I, C-I, D-IV

A-III, B-1I, C-1V, D-I

)
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164

165
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167

Match List I with List II.

List I List II
A. Vasectomy I.  Oral method
B. Coitus II.  Barrier method
interruptus
C. Cervical caps IIl. Surgical method
D. Saheli IV. Natural method

Choose the correct answer from the options
given below:

(1) A-lI, B-I, C-1V, D-1I

(2) A-I, B-1V, C-1I, D-I

3) A-IL, B-II, C-I, D-IV

4) A-1V, B-II, C-1, D-1II

Which of the following functions is carried out
by cytoskeleton in a cell?

(1) Nuclear division

(2) Protein synthesis

(3) Motility

(4) Transportation

Select the correct group/set of Australian
Marsupials exhibiting adaptive radiation.

(1) Tasmanian wolf, Bobcat, Marsupial mole
(2) Numbat, Spotted cuscus, Flying phalanger
(3) Mole, Flying squirrel, Tasmanian tiger cat
(4) Lemur, Anteater, Wolf

Which of the following statements are correct
regarding female reproductive cycle?

A. In non-primate mammals cyclical changes
during reproduction are called oestrus cycle.

B. First menstrual cycle begins at puberty and
is called menopause.

C. Lack of menstruation may be indicative of
pregnancy.

D. Cyclic menstruation extends between

menarche and menopause.
Choose the most appropriate answer from the
options given below:
(1) A and D only
(2) A and B only
(3) A, Band C only
(4) A, Cand D only

Broad palm with single palm crease is visible in
a person suffering from-

(1) Down’s syndrome

(2) Turner’s syndrome

(3) Klinefelter’s syndrome

(4) Thalassemia
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Tl [ &l gl 11 & @y gafad &
T 1 T 11
A. ghaEsIWeT I @R SW aw fatyg
B. @& w@ed . Ty fafa
C. Tty War ot 11 sreafspan fafy
D. @&al IV. uigfde fata

A feu U faeedt § € @ SAX @1 99w HA|
(1) A-II, B-I, C-1V, D-II
(2) A-III, B-1V, C-II, D-I
(3) A-II, B-III, C-I, D-IV
(4) A-1V, B-II, C-1, D-III

Tfaiad ® @A °1 B Byl § argede g
Tepam ST & °

(1) s favmem

(2) WA Gy

(3) Tia

(4) uf@es

argen fafeeor fEm o srefea Rrgerh %
e GE/82 B 99T B

(1) centrar afsa, dake, geam 9|

(2) T2, YR HEhd, STT-Hheiwik

(3) @, Sev firsdl, qEnEE TER He

(4) R, 9r@ER, At

= A @ gret o O &b favg ® e 9 U 9@l
g7
A, TR-YTgHE YT JEren ¥ S & I ahid

UTerdl ®I 32T Gk HeEd

B. 9¥ %gE@ 9% EAH UX E BT & B
TSGR wed 2

C. FgaE & STuRAfd THar & gaa ¢ |

D. 9% %JAE SR d W a@ il 5|

e fau T faeedl @ 9 W St 39 &1 999 S|

(1) ¥a@ Awd D

(2) *%a@ ATE B

(3) ®ad A, Bud C
(4) ®aa A, Cud D

fpae diteq =aferd ® Td 9Ted et & Wy ARl B8l
3@ wr ¥ ?

(1) = figm

(2) = g™

(3) wETHeT figm

4) St
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Which one of the following symbols represents
mating between relatives in human pedigree

analysis?
o0 o [0

) I o8 N X 2

Which one of the following common sexually
transmitted diseases is completely curable when
detected early and treated properly?

(1) Genital herpes (2) Gonorrhoea

(3) Hepatitis-B (4) HIV Infection

Given below are two statements:

Statement I: In prokaryotes, the positively

charged DNA is held with some negatively

charged proteins in a region called nucleoid.

Statement II: In eukaryotes, the negatively

charged DNA is wrapped around the positively

charged histone octamer to form nucleosome.

In the light of the above statements, choose the

correct answer from the options given below:

(1) Both Statement I and Statement II are
true.

(2) Both Statement I and Statement II are
false.

(3) Statement I is correct but Statement II is

false.

(4) Statement I incorrect but Statement II is

true.

Given below are two statements:

Statement I: RNA mutates at a faster rate.

Statement II: Viruses having RNA genome and

shorter life span mutate and evolve faster.

In the light of the above statements, choose the

correct answer from the options given below:

(1) Both Statement I and Statement II are
true.

(2) Both Statement I and Statement II are
false.

(3) Statement I is true but Statement II is

false.

(4) Statement I false but Statement II is true.

Radial symmetry is NOT found in adults of
phylum .
(1) Ctenophora
(3) Coelenterata

(2) Hemichordata
(4) Echinodermata
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=1 Aa gomat fagawor § @i a1 wdie fiederl
% 9/ 9gT @I e i s 7

O H—0O o [0

G) I o8 KX 2

o o @ @ @ g A "R A s At st
T T WY SR SR S ¥ IYAR & S a1 g
3 & Whd § 7

(1) wAts ufgd (2) g
(3) THama-B (4) TTIMEA FHAT
T a1 s faw T R

FoA I WibREten o oo e STy 5
FOTHD STETTT WMl & a1y deH Th & o
hudY HEd &, H @dl 8l

o I1: gHNRART  FoeHes SR ST g
AT e areeas & Al 3R fadest Jformaram
ERIGIY

Iude HUA! 6 YoteT H, I fIu g Tyt § & wd
TAT B TIT B

(1) <= %= 1w I 99 ¥

(2) I Fa= 1 wd 11 | #)

3) FF 19 ¥ wfeT A 11 3/ ¥

4) FA 1 oag & @l wad 11 99 71

R 3 sy faw T R

Fo [: ST SU&THd dg aX 9 SAf@nid sl
Fl

F 11: STTAT M Td BIe Siad & ard fesm
drorar & Iafafia & faeiaa e 3

S HUA & gl W, T fiu U faeedt § |
TE S B TG B

(1) 3= = 1 e I 99 %)

(2) < w1 wd 1T e 21

(3) =W 197 § afed = 11 o §)

4) F1 1 3w T Afe w11 9 B

T gg & Tumnl ¥ oty gufyfa & gt W ?
(1) A (2) F@Ea
3) Hraw= (4) UsEARH
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173 Which of the following are NOT considered as | 173 &/ ® @ & ¥ oiq:ffeder o= &1 9rT & AW 91

the part of endomembrane system? e

A. Mitochondria A. g

B. Endoplasmic Reticulum B siagal s

C. Ch10foplasts C -

D. Golgi complex .

E. Peroxisomes D. ifedl e

Choose the most appropriate answer from the E. oo

options given below: 1 faeedi & wa@ St AT &1 999 &I
(1) Band Donly (2) A, C and E only (1) @ Buwa D (2) ®waad A, Cud E
(3) Aand Donly (4) A, D and E only (G) da@ Awd D (4) Haw A, DTS E

174 Match List I with List II.

174 @@ I & o 1 & @ gafad &)

List I List 11
(Type of Joint) (Found between) T 1 KSR
A. Cartilaginous 1.  Between flat (s =1 wm) (% e W S ®)
Joint skull bones A. IuRg—ga I =9 wue stferat
B. Ball and II.  Between adjacent gy % g
Socket Joint vertebrae in B. dgd @it II. ®9eHes § o
vertebral column dfa Rrpeadt Bsremra
C. Fibrous Joint  IIl. Between carpal % e
and metacarpal of C. Whmdlr L s % e o
D. Saddle Joint IV. Between Hehe & "
Humerus and D. ¥ dfy IV. g9E wd o™
Pectoral girdle UGl & A
Choose the correct answer from the options T o o Rl § ¥ g9 SR @1 99T Ba|
given below: (1) AL, B-L, C-II, D-IV
(1) A-l, B-I, C-I1I, D-IV (2) AL, BV, C-I, D-III
(2) AL BV, C1, DIl (3) A-L, BV, C-II, D-II
(3) AL B-IV, C-IIL DI (4) A-II, B-1V, C-III, D-I
(4) A-II, B-1V, C-III, D-1
175 Match List T with List II. 175 R L& Tl 1 & T gHiew w31
List T List 11 ESUR T
A. CCK I.  Kidney A. s I g%
B. GIP II. Heart B. SiemEd . ==
C. ANF II. Gastric gland C. TT% . et 3t
D. ADH IV. Pancreas D. tdm IV, g

Choose the correct answer from the options
given below:

I Ru T et ¥ ¥ 7€ IO F G9T B

(1) A-IV, BIL, C-II, D-1 (1) A-1V, B-III, C-II, D-I
(2) A-IL B, C-IV, D-I (2) A-III, B-II, C-1V, D-I
(3) A-IL, B-1V, C-1, D-III (3) A-IL, B-1V, C-I, D-III
(4) A-1V, B-II, C-III, D-I 4) A-1v, B-II, C-1II, D-1
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Given below are two statements:

Statement I: Low temperature preserves the

enzyme in a temporarily inactive state whereas

high temperature destroys enzymatic activity

because proteins are denatured by heat.

Statement II: When the inhibitor closely

resembles the substrate in its molecular structure

and inhibits the activity of the enzyme, it is

known as competitive inhibitor.

In the light of the above statements, choose the

correct answer from the options given below:

(1) Both Statement I and Statement II are
true.

(2) Both Statement I and Statement II are
false.

(3) Statement I is true but Statement II is

false.

(4) Statement I is false but Statement II is

true.

Given below are two statements:

Statement I: A protein is imagined as a line,
the left end represented by first amino acid
(C-terminal) and the right end represented by
last amino acid (N-terminal)

Statement II: Adult human haemoglobin,
consists of 4 subunits (two subunits of ¢ type
and two subunits of 3 type.)

In the light of the above statements, choose the
correct answer from the options given below:
(1) Both statement I and Statement II are true.
(2) Both statement I and Statement II are false.
(3) Statement I is true but Statement II is false.
(4) Statement I is false but Statement II is true.

Given below are statements: one is labelled as

Assertion A and the other is labelled as

Reason R.

Assertion A: Nephrons are of two types: Cortical

& Juxta medullary, based on their relative

position in cortex and medulla.

Reason R: Juxta medullary nephrons have short

loop of Henle whereas, cortical nephrons have

longer loop of Henle.

In the light of the above statements, choose the

correct answer from the options given below:

(1) Both A and R are true and R is the correct
explanation of A.

(2) Both A and R are true but R is NOT the
correct explanation of A.

(3) A is true but R is false.

(4) A is false but R is true.
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IO RO DI

F 1: 11 quees doigw @i orars w9 9 ey
s ¥ gRied T@dt ¢ | el Sed qmusmd Ueigd
%! fopansfierar @l & &3 <1 ¥ | i S ¥ U
faga & 9 ¥

Fu 11: 19 TeAH 37U affvass deam o fopanam
Y HI% THHAT QAT & S ToTgH &l fehanefidar @l
GaHd BT & O 39 Wiqweiee a9 bed |
I HUAl b Yolel § A few o faedt & W
I BT TIT B

(1) 3= F2= 1 wd I 99 %)

(2) i w1 wd I 3 2

(3) W I 9 ¥ Wfepd woF 11 38 2|

4) = 1 oA ¢ AfhT = 11 9

TS pue il ™

F 1: T WM Bl HedT Th (@1 9 & T F,
BT ST O wUd oriAl or (W) wa qrt
faa eifqm e e (wa-fon) el @wear )
FA 11: 999 99d EHraied § 4 3UEs B ¥
@ o fpw & SuEs wd & B fReT & Iuws) |
Iuda HUAl b Yolel ¥ A few o fadedt & W@
IAT B TIT B

(1) @ w1 wd 1 |9 |

(2) i w1 wd I 3 2

3) FF 19 ¥ wfeT A 11 3/ ¥

4) FF 1 @d t afed w9 11 a9 3

T < Bue o T ¥ - wp AR A ¥ @ s
R 2|

APFIA A: JFBIY] ITh! qepe T AL H A
Refr % oMER WX & UHX & B & | Teherd Jahl]
g QI qEATYT Jabrv |

FRO R: A1feq ALAisn gapjen § e wel Bl
BT & el acperd JabIa H SR I9T ST
ST BT B

SUge BUA & Yy H, A9 fog MU fawedt # &
Sfad I &1 T B

(1) Atd RIAE d € Td R, A % 92 =TT 7
(2) AUdRIE g T Td R, A %1 T2 Jrea &)
gl

A 97 ¥ dfeT R o@d )

A 39 ¢ WieT R a4 31

3)
)
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A.
B.
C.
D.

Match List I with List II.

List I
Taenia I.
Paramoecium  11.

Periplaneta I11.
Pheretima Iv.

List II

Nephridia
Contractile vacuole
Flame cells
Urecose gland

Choose the correct answer from the options give
below:

1)
()
3)
)

180
A.
B.

C.
D.

A-1, B-1I, C-II, D-IV
A-I, B-1I, C-1V, D-III
A-1I1, B-1I, C-1V, D-I
A-II, B-1, C-1V, D-III

Match List I with List II.

List 11

Effect on

cardiovascular system

II. Slow down body function

[11. Painkiller

IV. Interfere with transport of
dopamine

List I
Heroin I.

Marijuana
Cocaine
Morphine

Choose the correct answer from the options
given below:

(1
()
3)
)

181
(M

)

3)
“)
182

oSOowy>

A-II, B-I, C-1V, D-III
A-l, B-II, C-III, D-IV
A-IV, B-III, C-II, D-I
A-1II, B-1V, C-I, D-II

Which of the following statements is correct?

Eutrophication refers to increase in
domestic sewage and waste water in lakes.
Biomagnification refers to increase in
concentration of the toxicant at successive
trophic levels.

Presence of large amount of nutrients in
water restricts ‘Algal Bloom’

Algal Bloom decreases fish mortality

Match List I with List II.

List 11

(Secretion)

Mucus

Bile juice

Proenzyme pepsinogen
HCI and intrinsic factor
for absorption of
vitamin B,

List I

(Cells)

Peptic cells L.
Goblet cells 1L
Oxyntic cells  1II.
Hepatic cells V.

Choose the correct answer from the options
given below:

(1) A-IV, B-1II, C-1I, D-I
(2) A-IL, B-l, C-III, D-IV
(3) A-Ill, B-I, C-1V, D-II
(4) A-IL, B-1V, C-1, D-III
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6]
)
3)
)

180
A.
B.

C.
D

9]
)
3)
C))

181
(M

)
3

“)
182

@
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)
3)
)
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T & g 1 & arg gafad &

T 1 T 11

afrar I I%%

R 1. dga=sia g
gRwaeer 1. Sarer Hifdten
e V. gl Y

1 fasedi ¥ 9& SO @1 99T B

A-1, B-II, C-III, D-IV
A-1, B-II, C-1V, D-III
A-IIL, B-II, C-1V, D-I
A-II, B-I, C-1V, D-III

T I & g I % |y gafad s

T 1
g L.
Afgem L

BT
AT

T 10

&G dIfEel O U qHd
9T &% Wbt @l

T BT

. <Efans

IV. SUdM & qfiass # aren

ﬁﬁ@mﬁﬁ’ﬁ%aﬁwwwwm

A-II, B-I, C-1V, D-III
A-1, B-1I, C-1II, D-IV
A-1V, B-III, C-1I, D-1
A-II1, B-1V, C-1, D-1I

= § ¥ o T wue @@ R

(T dlfed A9 T Sl § dtfed A9 gawo
EEREISIES

ST AL Bl G T T T U STiTTeR
% diEar # gfg &1 B B

ST H BT! AT H ST Bl BT STaTe e
& ThaT 2|

Sare yepeA Aufaal B A | Wb 3

T I & T 0L & | gAtad el

T 1

(eRfITRIT)

Uftesp wifyred 1.
FHA BiHEE L
snferaf-an I11.
EalEay
feufesn
EalEay

T 11

()

QoTSHT

for sp@

U, TATgH
BlEISE
TIEIE T
fgaftm By, &
a9ty & ferg
AT B

g g ™ faeel ¥ 9 9@ SO @ 999 &l

A-IV, B-III, C-II, D-I
A-II, B-I, C-III, D-IV
A-IL, B-I, C-IV, D-II
A-II, B-IV, C-1, D-III
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Given below are two statements:

Statement I: Vas deferens receives a duct from
seminal vesicle and opens into urethra as the
ejaculatory duct.

Statement II: The cavity of the cervix is called
cervical canal which along with vagina forms
birth canal.

In the light of the above statements, choose the

correct answer from the options given below:

(1) Both Statement I and Statement II are
true.

Both Statement I and Statement II are
false.

)

Statement I is correct but Statement II is
false.

3)

Statement I incorrect but Statement II is
true.

)

Vital capacity of lung is

(1) IRV + ERV

(2) IRV + ERV + TV + RV
(3) IRV + ERV + TV — RV
(4) IRV + ERV + TV

Match List I with List I with respect to human
eye.

List I List II
A. Fovea I.  Visible coloured portion
of eye that regulates
diameter of pupil.
B. Iris II.  External layer of eye

formed of dense
connective tissue.
C. Blind spot III. Point of greatest visual
acuity or resolution.
D. Sclera IV. Point where optic nerve
leaves the eyeball and
photoreceptor cells
are absent.

Choose the correct answer from the options
given below:

(1) A-III, B-I, C-1V, D-II
(2) A-1V, B-IIl, C-II, D-I
(3) A-L B-IV, C-III, D-II
(4) A-Il, B-I, C-I1I, D-IV
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T 3 sy faw o R

Fa 1: JohaTed B9 | U dlfell YT 6l &
3R ATl H w@eg dffel & ®9 § gaAdl 2|
F 11: afded &1 1 & afded T ded & o
A % Y T 1@ S B

Iude HUAT &b YTl H, Y U T Tyt § &
IAT B TIT BN

(1) 3= = 1 uwd I 99 )

(2) < w1 ud I e B

3) FF 19 ¥ wfeT wA 11 39 F)

4) FF 1 @d § Afed w9 11 99 31

HHS B AT HHAT B

(1) e + gamed

(2) OMSIRET + FaMEr + It + ey
(3) EaTE + g + It — et
(4) omEemEr + gemdr +

AT 95 % gay ¥ T 1 & g 1 & a1y gatad
HU|

T 1

wifean L

T 10

I HT @ A T
AN S GiUd & @E Bl
Frafa @ 7

I B e UG A g
AT Hdh B S
RIS

sfuehad g9 ceuTar Al
faves &1 fag)

fag <=l 4 & — dfa
TAMAD Bl BIEAl &

3l @'l yetsT wadt
HIVHT FTIRAT Bl 2 |
A fdu 1o faeedi & ¥ 98 SO @ 999 B
(1) A-II, B-1, C-1V, D-II

(2) A-IV, B-III, C-II, D-I

(3) A-L B-1V, C-III, D-II

4) A-II, B-I, C-II, D-IV

A.
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Zoology : Section-B (Q. No. 186 to 200)

186 In cockroach, excretion is brought about by-
A. Phallic gland B. Urecose gland

C. Nephrocytes D. Fat body

E. Collaterial glands

Choose the correct answer from the options
given below:

(1) A and E only

(2) A, B and E only

(3) B, C and D only

(4) B and D only

187 Which one of the following is the sequence on

corresponding coding strand, if the sequence on

mRNA formed is as follows

5> AUCGAUCGAUCGAUCGAUCG AUCG

AUCG 3°?

(1) 5 UAGCUAGCUAGCUAGCUA
GCUAGC UAGC 3’

(2) 3’ UAGCUAGCUAGCUAGCUA
GCUAGCUAGC 5’

(3) 5’ ATCGATCGATCGATCGATCG

ATCGATCG 3’

(4) 3> ATCGATCGATCGATCGATCG

ATCGATCG 5’

Match List I with List IL.

List I List 11

Logistic I.  Unlimited resource

growth availability condition

Exponential Limited resource

growth availability condition

. Expanding The percent individuals
age pyramid of pre-reproductive

age is largest followed

by reproductive and

post reproductive

age groups

The percent individuals

of pre-reproductives

and reproductive age

group are same

Choose the correct answer from the options

given below:

(1) A-I, B-I, C-III, D-IV

(2) A-II, B-III, C-1, D-IV

(3) A-IL B-1V, C-1, D-III

(4) A-I, B-1V, C-lII, D-I

188
A.

B. II.

1.

Stable age V.

pyramid

189 Which of the following is characteristic feature
of cockroach regarding sexual dimorphism ?
(1) Dark brown body colour and anal cerci
(2) Presence of anal styles

(3) Presence of sclerites

(4) Presence of anal cerci
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186

187

188

189

foeraee ¥ I % g B 81
A. Hias U B. pIR)

C. +wEEsE D. =& fis

E. sws Himat

W fiu U faeedl ¥ 9 Sfua SR @1 99 Bl
(1) ¥%aa A& E

(2) ®aw A, Bud E
(3) ®aw B, C wd D
(4) %ad Bwd D

gfs 99 3T mRNA &1 %9 2 fear w3

5> AUCGAUCGAUCGAUCGAUCG AUCG
AUCG 3°, 98 7 § &if$T =9 &1 %9 @
B ?
M

)

5" UAGCUAGCUAGCUAGCUA
GCUAGC UAGC 3’
3> UAGCUAGCUAGCUAGCUA
GCUAGCUAGC 5°

(3) 5 ATCGATCGATCGATCGATCG
ATCGATCG 3’
(4) 3’ ATCGATCGATCGATCGATCG
ATCGATCG 5°
T I & g I % |y gafad s
T T 10
A, @aR—¥ ghs 1. orEitha dEmed
BT YA Bl
T
B. 9wl ghe 1. Hifhd d@red @
UL I ST
C. et omg . S9AYe g %
s ARl @ faeraan
tfeehad Bl &
ISEERCIEANE AL
g AT 3g
T
D. fer amg V. S9qd Td Swe
s g ot &% Al
%! gfasTadr a9
Bl 2

A feu U faeedl ¥ @ @ SO B g9 HA
(1) A-Il, B-I, C-I1I, D-IV

(2) A-I, B-III, C-1, D-1V

(3) A-I, B-1V, C-1, D-IIT

4) A-II, B-1V, C-II, D-1

= & @ @9 9 faeaee it dfre fawuar & fafire
AT R P

(1) T80 U R &1 11 & [ T

(2) T 9@ @ SuRafa

(3) ®od Bl IURATT

(4) TEF A @ IuRafq
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The unique mammalian characteristics are:

(1) hairs, tympanic membrane and mammary
glands

hairs, pinna and mammary glands

hairs, pinna and indirect development
pinna, monocondylic skull and mammary
glands

)
3)
)

Select the correct statements.

A. Tetrad formation is seen during Leptotene.

B. During Anaphase, the centromeres split and
chromatids separate.

C. Terminalization takes place during
Pachytene.

D. Nucleolus, Golgi complex and ER are
reformed during Telophase.

E. Crossing over takes place between sister
chromatids of homologous chromosome.

Choose the correct answer from the options

given below:

(1) A and C only

(2) B and D only

(3) A, C and E only

(4) B and E only

Which of the following statements are correct ?

A. Basophils are most abundant cells of the
total WBCs

B. Basophils secrete histamine, serotonin and
heparin

C. Basophils are involved in inflammatory
response

D. Basophils have kidney shaped nucleus

E. Basophils are agranulocytes

Choose the correct answer from the options

given below:

(1) D and E only

(3) B and C only

(2) C and E only
(4) A and B only

The parts of human brain that helps in regulation
of sexual behaviour, expression of excitement,
pleasure, rage, fear etc. are :

(1) Limbic system & hypothalamus

(2) Corpora quadrigemina & hippocampus
(3) Brain stem & epithalamus

(4) Corpus callosum and thalamus
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B O fafireand weas waeahal @ € ?
(1) Tm, &l yeg freelt wd @ Tt

(2) ¥, BuYeEd Td WA Ui

(3) ¥, ®HuYTHd T T uRaHs

(4) wviucHd, WABISETA BUE Td WA AREt

e B B TIT B

A. g fi aguee ¥ e 3 R

B. uyamaen ¥ ugmfeg fawfea g ¥ el
ST 3@ B

C. W@ ¥ IUCIYE Bl 51

Hfsapl, Mool Td oM Sicmewen & g a9

S E

E. I oifax q9eia [ORE &l 98 STeorgsil
% 99 B 5|

e fog U el & @ S99 S| 9 &1 999 S|

(1) ¥a@ ATE C

(2) ¥a@ Bud D

(3) %aet A, C T E

(4) ¥%a@ Bud E

e & 4 a9 9 wuT | ¥ 7

A. IR FA SsqdIEl B G99 St HifyEe
gl

B. 6 fewifm, Rt wa Rt & e
H B

C. 9iftea sfverebrdr wfafsranstt # aftwfaa st ¥

D. wHifha ¥ gah & SHI B b5 sl 2|

E. <oiftee sreborepifaterd st ¥1

I

fqu T fadedl & ¥ 9 IAX @ T9H BA|
() %ad DU E  (2) ®%aw CWd E
(3) %a@ Bwd C  (4) %aa Awd B

MG ARG 61 9 S @R a8k, SaeHl &I
arfyyeafery, gaft, e, ST g@nfs &1 s & 7
(1) fafds = iR sEddeTa

(2) ®RUR FESOHET 3R fEwihud

(3) wfaw @y &R sfdemg

4) ®YE FHeEw Td Jand
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Which of the following statements are correct?
A. An excessive loss of body fluid from the
body switches off osmoreceptors.

B. ADH facilitates water reabsorption to
prevent diuresis.

C. ANF causes vasodilation.

D. ADH causes increase in blood pressure.

E. ADH is responsible for decrease in GFR.
Choose the correct answer from the options
given below:

(1) A and B only (2) B, C and D only
(3) A,Band E only (4) C, D and E only

Which of the following statements are correct
regarding skeletal muscle?

A. Muscle bundles are held together by
collagenous connective tissue layer called
fascicle.

Sarcoplasmic reticulum of muscle fibre is
a store house of calcium ions.

Striated appearance of skeletal muscle fibre
is due to distribution pattern of actin and
myosin proteins.

M line is considered as functional unit of
contraction called sarcomere.

Choose the most appropriate answer from the
options given below:

(1) A,Band Conly (2) B and C only

(3) A, Cand D only (4) C and D only

D.

Which one of the following is NOT an advantage

of inbreeding?

(1) It decreases homozygosity.

(2) It exposes harmful recessive genes that are
eliminated by selection.

(3) Elimination of less desirable genes and

accumulation of superior genes takes place

due to it.

It decreases the productivity of inbred

population, after continuous inbreeding.

Match List I with List II.

)

List I List 11
A. Mast cells I.  Ciliated epithelium
B. Inner surface Il.  Areolar

of bronchiole connective tissue
C. Blood III. Cuboidal epithelium
D. Tubular parts V. specialised

of nephron connective tissue

Choose the correct answer from the options give
below:

(1) A-I, B-II, C-1V, D-III

(2) A-IL, B-II, C-I, D-IV

(3) A-I, B-I, C-1V, D-II

(4) A-1I, B-1V, C-1I, D-I
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frfofad & 9 &9 @ duT g T ?

A, R 9 TAy® SMTE &9 BT & I
iEat ® 9% BT <ar B

B. TSI g ®l Wb % (@4 STl o GAaeyo

Bl G S 2|

QUATE ITEeh! o &iar |

TEUg @ 9§ gead Il g

TETE SUGAR § B & MY SHeEr )

ﬁ%mmﬁwﬁﬁ%ﬁawwwwl

(1) %a@ AtTd B (2) %a@ B, C & D

(3) dad A, Bud E (4) %aw C, Dud E

m OO

Hhebtel U & oo & & § ®uT 9@ T 7

A. Ul IS0 HicTl AT Haw Bl UG o 36
B ¥ R duee wed )

B. U3l dq & ArennioAdh LIRIAH hieaaH a1
H S B |

C. ot el &l g feamae ufeed ud amm
AT % T ghied & & Bl Sl

D. UH W@l & §Fad & GEAE 315 A1 Sal
& T it wed 2|

T Rw g femedl ¥ ¥ wEd S ST @1 aEA B
(1) %ad A, Buwd C (2) ®aad B ud C
B) da@ A, CTd D (4) Baw C T D

[ A A G M i e 1 B E

(1) o% GAg™ar & B HT 5

(2) 9T T YE SFHHTAT ST Bl SEHIRAT BT & o
g9 g ehiaa e o ¥

(3) TGP BRUT HH AR Al Bl TpET T
955 fhey % WMl T "9aT BT B

(4) AR AT & TG T8 AT THRE Bl
SATEHAT BH BT & |

T I & T % ary gafad s
Tl T 11

A. WE By 1L ey Iumar

B. ya@f-al &l II. ThEE g
stafe aas IdH

C. T I1l. S¥ThI SUehaT

D. gFee & V. fafdre dast sae@
BB AT

a0 feu U faeedl § 9 W SO B 99T A
(1) A-l, B-II, C-1V, D-III
(2) A-II, B-III, C-1, D-IV
(3) A-II, B-I, C-1V, D-III
(4) A-IIL, B-1V, C-II, D-I
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Given below are two statements:

Statement I: During G, phase of cell cycle, the
cell is metabolically inactive.

Statement II: The centrosome undergoes
duplication during S phase of interphase.

In the light of the above statements, choose the
most appropriate answer from the options given
below:

(I) Both Statement I and Statement II are
correct.

Both Statement I and Statement II are
incorrect.

Statement I is correct but Statement 11 is
incorrect.

Statement I is incorrect but Statement I1
is correct.

)
3)
)

Which of the following are NOT under the
control of thyroid hormone?

A. Maintenance of water and electrolyte
balance

Regulation of basal metabolic rate
Normal rhythm of sleep-wake cycle
Development of immune system

Support the process of R.B.Cs formation
Choose the correct answer from the options
given below:

(1) A and D only

(2) B and C only

(3) C and D only

(4) D and E only

Mo 0w

Select the correct statements with reference to
chordates.

A. Presence of a mid-dorsal, solid and double
nerve cord.

B. Presence of closed circulatory system.

C. Presence of paired pharyngeal gillslits.

D. Presence of dorsal heart

E. Triploblastic pseudocoelomate animals.

Choose the correct answer from the options
given below:

(1) A, Cand D only

(2) B and C only

(3) B, D and E only

(4) C, D and E only

E6_Hindi+English |

46

198

199

200

g & wyw fou o ¥

FA L: BT =k Bl Gy ST | Hli3Tehl ST
&9 ¥ Fiepa e 2

o 11 S2IEW Sfaueren & S wrerern § f&r s
2

Iuda HUA! b YopteT H,  fu g Tyt § @ w8
T BN TIT B

(1) <=t w1 wd I |9 |
(2) < w1 wd I o @
(3) w19 ¥ WfepT woF 11 318 2|
4) Fm 1 o@d ¢ it Faa 1 9 7|

e o @ B agTiss s % Frwe § 98 7
ST T AE HIIZ AT Bl G @

ST SUTTET &X 61 Feme |

AR-— & a5h bl A @4 |

. wfawen @ @ faeE|

E. smdrd. fmfo & ukean & dienfea sam
A fou U famedt & @ @& A B T U

(1) %a@ Atwd D

(2) %@ Bud C

(3) %@ C W D

(4) ¥a@ Dwd E

A
B.
C

D

Hisel & ey A T HUA B TUT B
HG-Ye, 3 T Qe bt Tou] sl suRkafa
ot ® giva oam et @ suRafa

U5 g5l IURATd

E. P, % Ter ol

T fiu 1o faeedt & @ Sh@ SR & T BAI
(1) %a@ A, Cwd D

(2) %@ Bud C

(3) waw B, Dud E

(4) ¥a@ C,Dwd E

A
B.
C

D
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fefefEe [FEsT ear7 @ g -

Read carefully the following instructions :

6.

10.

11.

12.

13.
14.

15.

16.

17.

AT TR g W, qdemedt a1/ gie Sied ¥ 9d 3
U (g ufafeiy v shraiera ufatafa ) shey fHaeres
ohY TGV WU S | Tdemeft 379 e g giedert o 5
wehd B

34 Yfideht o1 HWeha & E6 1 =g gfafyem weel o
T GAIahT ohT Hehd, ST TR oh Ho1 Afdferia ag a1y
T Hehd W faerar &1 oR =g fis & < wdamedt gud
e giedert 3R IR 3 o1 & fag fies 1 i
T Q|

Tdameft ghfyea i fe 39 ST o= =61 | 7 91w
I R 37 T2 7 e | qdeedt sTae TR
¥ gikaenl/ I 99 § Fuifa Tom & sifafea s
=1 ferdi |

IW 79 R fFE THR F ded 7 K KES +
N T ST T R |

TS M R Y gdamel, fiers 1 79 gae-ua
fe@md |

g arefters a1 flere 1 fovm erqmfa o fam =
Tdefreft STo T A B |

Frdd e &1 91 SR U feq faqn wd
Iufeerfd-—as/eh T g sEaR (T % @e1) fehg
fom =g ghaneff odan e =S B0 afe feet
gitgrrell ¥ gET R SufeIfd-useh u¥ e TE
R =1 =g AT STET foh SET ST U S wteran ¥
3T srgfara | st JIHeT JEn S
eI eh/ eaaerd URehetsh sl SUANT afeld & 1
TART-heT/BicT H =R0T o T udemeff, odem &
ot we fafradi g fafaa €1 egfaa @em &
Y ATEE! 1 e 39 TdaT o feEi v faftesi
STIRENT |

foret grema & et gicant ST STX U T g
HT ST A L

T giedeht / SR U= H fau Tu udet gRaent dohd i
qdemel wE alek ¥ sufeafa-udes § fod |

A "¢ 9 e @t erafy &t lien & fau us g
Ut fFe @1 wfaqRe @99 yee fean wmom, a9t
g gt (S femew & fow omdifies w0 @ e
), BHIES BT IUART HIAT & a1 T2 |

6.

=~

10.

11.

12.

13.
14.

15.

16.

17.

On completion of the test, the candidate must
hand over the Answer Sheet (ORIGINAL and
OFFICE Copy) to the Invigilator before leaving
the Room/Hall. The candidates are allowed to take
away this Test Booklet with them.

The CODE for this Booklet is E6 Make sure

that the CODE printed on the Original Copy
of the Answer Sheet is the same as that on
this Test Booklet. In case of discrepancy, the
candidate should immediately report the matter to
the Invigilator for replacement of both the Test
Booklet and the Answer Sheet.

The candidates should ensure that the Answer
Sheet is not folded. Do not make any stray marks
on the Answer Sheet. Do not write your Roll No.
anywhere else except in the specified space in the
Test Booklet/Answer Sheet.

Use of white fluid for correction is NOT permissible
on the Answer Sheet.

Each candidate must show on-demand his/her
Admit Card to the Invigilator.

No candidate, without special permission of the
centre Superintendent or Invigilator, would leave
his/her seat.

The candidates should not leave the Examination
Hall without handing over their Answer Sheet to
the Invigilator on duty and sign (with time) the
Attendance Sheet twice. Cases, where a
candidate has not signed the Attendance
Sheet second time, will be deemed not to
have handed over the Answer Sheet and
dealt with as an Unfair Means case.

Use of Electronic/Manual Calculator is prohibited.
The candidates are governed by all Rules and
Regulations of the examination with regard to their
conduct in the Examination Room/Hall. All cases
of unfair means will be dealt with as per the Rules
and Regulations of this examination.

No part of the Test Booklet and Answer
Sheet shall be detached under any
circumstances.

The candidates will write the Correct Test Booklet
Code as given in the Test Booklet/Answer Sheet
in the Attendance Sheet.

Compensatory time of one hour five minutes
will be provided for the examination of three
hours and 20 minutes duration, whether such
candidate (having a physical limitation to
write) uses the facility of Scribe or not.
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